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de . 3 amd|

[4001] - 102
T 99 sheAT (F.Y. B.A)

(G - 1) : ATYHH AIST ATSHA
(2008 Ued) (HITST)
(7T AATEHH)
[ eor 7or = 80

greIgEAS - 1) FAlAawT

i)  @reaaegtt
i) saragTRe werst

gaIr:- 1)  ad 5T qislav Jravas .

i) Iwaiesicr sie Fvra Qi JoT Foifaard.

797 1)

) WTATAUh! HIUTATE! g TgaTe SW 150 vregia forer. [10]

1) ‘cafemua’ Eue T ?

2) wAfFHa [aehTamed g eI Ueehrd T TE &
3) wafwm faeramETEt Wt Syt SugeE 3, o forar.
4) TS TN U<kt sAferaua frehTaTdicel T TUg .

) WIATAUh! HIUATE 39 Tt 3w 160 vega feret. [10]
1) SEUTRIvET GURUATHIES! SHivd IUT Aierad, o Toret.
2) TYUTeRIVIed A foresfaa A, 9 forer.
3) wRIHH AN TWRTA—Uch R M UeehTel WE hivTd T ?
4) FEEATCHTST ST IV U7 T ?

F) WEeTeh! ShIvTeaTE! gia Tert 3w 150 vregta fetat. [10]

1) SITRTITATON T TERHTEIHTE ATIYThAl TIY .
2) AU JAHAGERTHRS hHIv 0T SFETIA ?
3) Fau=ATdte Sraut ferfearn STt st et ?

4) SATRTITATUNERIA WTHUT TR AT hIVTdT GRIAT STt ?
PT.O.
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gy74) Wiefierdent ‘31 ST ‘@’ Terdier Tedehl Teht TgATel 3w 150 vieaia forer. [15]
A) 1) ‘urdt anfor Mt =an emam e sateates W@,

2) Y. . I9UE TAE ANYATE FAT AETE HTATSATAT TS T HH
& IATE 7

F) 1) ‘e W T ATHE ATSAT=AT hHidel TR TIE .

2) T UESHUTl AR AT Hiddw ST T H.

gy75) Wictictdeht ‘31 ST ‘& Terdier Tedeht Tent TgaTel 3w 300 vieaia forer. [15]
) 1) TIEmERr s AETd St dredn TUag g3 wE aed ¢

2) Il WTETd fRET SivTdt sTes gvara aredt Rauueet
gaaamd ¢

F) 1) ‘TYF NS A T SIHAETET heehieAT shidaen v fore.

2) oEd 9T9E FATSIT HIMATS! BAT shiga<il Hegdd| sheudT TIE .
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Total No. of Questions: 4] [Total No. of Pages : 3
P144 [4001] - 102

T Y heAT (F.Y. BA)
AT X IvA9eRT 6.1
(G- 1) : SATABTIER o ITATTA AT
(2008 Ue)
(Tt ETHERN)

dez . 3 am] [ wggor 7or - 80
gAA:—~ 1)  qF T @S0 ATTvIE SR,
i) Iwaiesicr sie To=ra Qi or Folfaard.

T971) WU hHIUCATE 8T TeATEt Seak Wedreht 20 vreaia foret. [20]
1) freursht sare forer.
2) erfueR WIS Ived SIvTal, o Toret.
3) oIy HIVTCATH IS U5 hIIeA HIUT ?
4) QTEET HIVAE T EIES .
5) umraRrErdt ferama ferdt =it arrarvgeRar amEa ?
6) YaeiEd TEUTS &M, q foTar.
7) YUEA oo UehsTehuT Shed cITHTS! Uk vTee forat.
)  UTAE, HUT JTEUTRT.
) YOR AERE Wk gare foreRum.
%) UTUATER FIUTRY 9t
T) Ul ATEaMT shedeAT GeIaTd.
8) udte vieaTen fourg whew wwTETE ATA e,
) a4
q)  wArEEAT
9) Ui ST Y WA TR ST .
) ATHTE R AT A J0L.
q) UEYS TS,

PTO.



797 2)

797 3)

10) Yt ST yeTETe! WISt UTRATNe y16g foTat.

31) Accounts Officer
o) Balance Sheet
%) Report

g) True Copy

11) guean fismen e wmEten gEsr Ueearagea stftreao ar=n

AR qIR .

12) et Sre Y e foTe.

ATYT B HHATIUIT TS AT TR,

13) Y& fawamer sirehteh S9aTeR a9 .

) HIEAT TER

q)  gEETA.

WTeAteTteht HTTeaTEl TeaTe 3w 50 vreara feret. [5]
1) A=A : Ueh Sived.
2) THaY AEehTehe SHIVTEAT TUTTE STIYEHAT STHTET 7

W AT ARTIT G . [5]

o erueat safeaTa a9T MWW AaTd gaYd aRadd
JATUTUITETET STIUTTE HATATE hild T2, FaTTT=a Tt shiesta ATat 79
At feahdtet hl ST Ta o1l gatel Ueh AVEY WA, SITal U, oH,
n?&u@m-cﬁmm T Ut fesg IeRuTR Adia. fasmaTen . |t
marmmaﬁnm&vmﬂﬁraﬁ ‘O el W 3%, g g wi
TG WA SATYUTE TRTAT STedl, IRl at STTIeT S71e. TRy ST STaune
38 e e AT | AnTdie.

37) WTATAdh! hivreare! Teht fawamer 150 viegiueda gareaes &, [10]

[4001]-102

1) SATAtYIer Sraehil SATT TSR .
2) vfguft amfor fomar ferghan

-2-



) el feeiean Susit SaT=aTel FREt WTSTa . [10]

A manwithasmall salary isvery likely to get into difficulties
unless he learns to "budget" for his monthly spending. A fixed
amount should be set aside under each heading — rent, food,
clothing. insurance, school-fees and so on. Theideal budget would
also include a fixed sum as "saving". Indeed this better be paid
into the Post office or Bank, and not kept at home. Until all this
has been done, nothing should be spent on luxuries. Only by
such a method can a man live within his income and make both
the ends meet.

Tg74) AN) Wieferasht wiureardl Tet fawamer 300 vregiadta ety foret. [15]

1) geEefTe SATRAT
2) SRHTATEA Tk Ta

) WA teTash! wivTeaTEl TehRt fawama 300 yreaiuRta uRieruT . [15]
1) e
2) WEEA B dre
3) uHleRuT=N STEaT g,

36363
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Total No. of Questions : 4] [Total No. of Pages : 2

P147

[4001] - 105
F.Y. B.A.
SINDHI
DEVANAGARI (2008 Pattern)

Time : 3 Hours] [Max Marks : 80

garg 1) zieat #i fefy fa sgf garaty s s fow - [20]

1)
2)
3)
4)
5)

6)
7)
8)
9)

areft & Tetre garg | iz faforfer o eman &t 2

efter, et @ sTTTETE v @TE W T afemE ?

from 9 dis et @ sifew I an & wigd oo f=h 2

R § aiter bt & sheferaaa | shfgst v, ferftag #r?

Mid-day (Ffz-3) eream ® vrastm & 79 formor it wer st siuae
g7

fafere. afera Fter, Mada ymt @ wfzer smog ey ?

o wer & R s e 7 |

ARaeRT Syadt Mfaarufter sit ferem, @er daar & fordier § ot ifzsht ag ?
TTAUH GeER U WIS Higs! &Y hal ol ?

10) 0%, A% 331 @ Hety Arset faenie firei ot wigwm ?
11) ST =hIe @ 3@ ATl <hred fu=n ?

12) ket Swehier @ frer wifereruy, =nfzen € ot ?

13) wmehter § wiggn viter gatm ?

garey 2) efsaft wi fefy fa fafy gamefy s s g @ @f afit 50 sty o
feran . - [10]

1)
2)

3)
4)

T et Fegeiteh ¥ ok wiieh | chigst siger wiufsran e ¥ ot ?

ISR AT STTIT T | oGS TeHT— e fohel W S5HATRgH W higgl
g wat ag ?

TSR TR0 ¥ T’ § shigsly awmef™ ot frgp & g ?
|1y B TA. AN WG 5 Hiefeg aep it s=g s o ?
P.T.O.



garey 3) gfeat wr el & faf gamai s o awdieer ot : - [20]
1) wweger it ferRari e s |
2) WHHRIN @ FHid A AY o Hrst o ?
3) idter St f3fer sife Wi fae et g8 7
4) wEgda Uriel @ R Wi gt asiul @8 BT Al ?

gareg 4) gfeat = el fa faf fowafy @ ahog o . - [30]
1) =g
2) W St JEE
3) ihsfe @i Ut g |
4)  wfEstt weeht aeiEd |
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Total No. of Questions : 4] [Total No. of Pages : 2

P147 [4001] - 105
F.Y. B.A.
SINDHI
ARABIC (2008 Pattern)
Time : 3 Hours] [Max Marks : 80
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Total No. of Questions: 5] [Total No. of Pages: 4
P151 [4001] - 111

g I« dTiecd (F.Y. BA)

HINDI — GENERAL -1
= = -
(2008 Pattern)
gwa 3 g3 [ qurfes : 80
qreAYEaS:— 1)  TEIRT :
HTIFRT TUIGH-3T. GIITFAR A7
i) @egaeagy :
HTIFRT TUIGH-3T. GITTFAR A7
qaTIC:- 1) G T A 8 1
i) g7f3At o fore ofes o7 & qurfes & 1

p7l) %) Feafafed aifes wedi 3 @ fed wm & G vata fafew) [4]
1) Advance
2) Capital
3) Entry
4) Balance
5) Immediate

6) Sanction

@) FrfoRaa @ @ foredi 2t reagmat o1 ered aFTeR SR T | TERT ShifsTe |
[4]

1) erfimm - arferm
2) e - we
3) ufur - urt
4) i - awui

PTO.



T972) )

[4001]-111

Fraferfaa o @ foredi = ivrdiar erferei it wTHeh adt & SIER SR

forfu o ferfau [4]
1) 38 2) 30-15=15

3) 99% 1) %

5) 60.12 6) 49

FrafaRea o @ frdt ts fova W w@gea (amieer) TR fikmw ) [4]

1) ufaw/afen soeEr ©e S ofw gfear # S f4wR ug 3 TRiE
oo & a1TeiTes W Taged d9R AT/ |

2) gt fadiem arfirerh fomme foammom & ereites § ogea daR et €

TrferRaa @ & Torelt U U=t ol Ieer SRaRt SRt THAT d9R it 1[4]

1) o T AERTY | T 9 3 U= ol TeAeT TRt IHhT THAT daR
IR |

2) wRA™ BT faumr & IREEi-ua &1 =il Sl Teae IRt SHehT
THAT AR hHINTT |

FrafeRaa eraaon o @ TRt we sraavon it aued sare fike ) [5]

1) TS UTES HT HeAT SIk B Hi, WY UNAR 3 FHael Ueh g a'ieh &
A HehelT € 3R o2 T2 Toh =R o @ amoft ueh - o fore g oE,
Teh—ge o foru wm i |

2) ¥ oeren § | SR At g w5k et @ 3R A @ S -, e
& ofte o TuT 9T € | IE T, FE qeh W 0iesh U S soldhed
ST ATHRTI G T 2 |

Fraferfaa sraavont @ @ feret ues eraawor it wges sarean i | [5)
1) “‘gu @S WA gu g 9 a9,

T Y BT Y S 9T T A,

WA €T - 3ATeRToT, Teommd we &,

TH T AN T W O R g 2



2)

“‘g@ Ei i3 Toh o1F SuaTTedt & A W,
IR FB B ATA LN, AMHW-HI BT A 217

gg73) &) TAateiaa @ @ foet v uieae ot vk faeE 9 orga i | [5]

1)

2)

HHS I TTTEE T T AT AT @ TTH B gohal 8, qEad |
Tz foret uer faty ot ofar, et everam favve 2ot & Fare 6 gt
& 8, Traeias gl % foru = a9 geiaf et et aeg, gEy
T AR, g B AT FTeAeh, hiell Bt a1 W, forfera g an
ARG Tedeh THT Iedeh TAN W oA 2, sfaera @neft € foh
ITead g aT el saforat ¥ Taead o ST TR 10T ZRT WEH
I R 2 | THTER U d9 ITAT U Ueh 3 WaH Su=amaeni
T, TS| ATaeh Ueh e 3R Arermur #f4eh WA ot wshad| auTe
AT, BERAAT AT W Uk THUTE o1 | T ad % RO g 39
aferoft WA § S7uAT e T R | Svaag fermemr gEn
WA o TATTAUTH R-Tc, el AT 8 Foh S8 st el &1 9=
g o fohR T2 §U HieT o Ueeri & UTH feRam o |

HER § T AT 8 a1 SO0 AT S | 0 9 S 5
9T k! 10 T2 8 | IER T o TR B TN o Hehd 8 | HA &,
N qre T e, o grewt @ o ot e g i Ik O @t g
&, 9g Wt grern & AT | 3@ GER H g Rl AT WA & aw"
et 1 2 3 1 ScaTe TR 9 o4, Fafia wu @ = gdew
S o™ & aE well-wifd @ge t T8 ®d § | d@9 56—
T E St w1 rem B, e oy § fAfga @) st @
TARI-TEGell © TS €1 @1 Fifeh 98 TH—al o @6 T i
THSTR AT o ARl O el oRTdaT g a0t T6= @l 2 |

T) frefoiaa gerert # ¥ fredl aie HaTeri o1 are | 94T it | [5]

[4001]-111

1)
2)
3)
4)
5)
6)
7)

sifom afeat fimmm)
ufegat feramn/aren )

T | AT |

BTAT W Yeg’ [T |

zh WY TR |
AAAR Thl IR T AT |
Hheh—theh Y U TEHT |

-3-



gg74) w) frafates § @ el o9 avat & sew fofaw | [15]
1) ‘SER wEr AT el & et fag w1 ate fesor hifsm |
2) THITUET o v O R Ut i AT @ 7
3) TETETA 3R YUET AT gehl JoIT ek o fohlt TR AT 8 7
4) a6kt e & ufa erreran wa Rt w6t guia fifu )
5) ‘sft geia’ ute FRT Yeviast % At w1 uftea i |

@) fAfeiRad ¥ | Tohedl @19 I9A1 o 3ea¥ TeTRag | [15]
1) fore sanger Uikt uaH & WY HIHE T AT ATEAT B 7
2) ‘HIg’ ohiordT o hIA Higd Wi U VIeEl § T it |
3) wIT & FATER UTAHT T TH Hel giaT 8, Uled hiddl h ATIR W
g HIfu |
4)  ‘urei w1 T SHISET T HTIE T HIT |

5) ‘oAt oh TN X Shiddl ZRT i hi F&H TP 3R Tl GagAT &
ufterm o |

gy75) frfafea # feret v fawa w fey fofam ) [10]

1) w@e wTq # fohche o1 T |

2) BT IR AT |
3) weaHa wEd |
¥
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Total No. of Questions: 5] [Total No. of Pages: 3
P151 [4001] - 111

goH 9 et (F.Y. BA)
G - 1) : B =
SR'-ﬁFFI'ﬂ\T'l?E =< (Functional Hindi)
(2008 Pattern) (Aehfeaeh )

gwa 3 gd] [ qurfes : 80
qgaarg:- 1) gt gvT sr{ard &
2) TyT 3 3E AR o7 3k T9T 3 qUIE £ |

go7l) o1 FrafaRaa omcht arftenfues wegi § @ fordl amme wresit o & vt forfam
: [8]

1) Act 6) Earned Leave
2) Bearer 7) Increment

3) Capital 8) Goods

4) Delay 9) Ledger

5) Finance 10) Minor

2) FraferRaa arert @ @ fordl o8 Tt &t UHE adt & YR W IF
weh T & feTfRau | [6]

1) < ufeea gt g

2) 9% WA SIS ATEHT R |

3) fufeaidz & sm &g

4) o Stear, # W @ A
5) wHTETE YT AT

6) wEad! foem St 2

7) 7 foeelt ARa 6 aweT 7 )
8) T TieTd T R o GAd W/ |

PTO.



3)

Frafefaa o @ el o i siieet qeon foreat &t e & ad-
o TIER Jeal H Tl [6]
1) 83 2) 8x4

3) 7.9 4) 82

5)  49% 6) 40+ 89
7) 71-37=34 8) 54

gv72)  Frefoiaw o § Rl 8T % Oed FAR SR [10]

%)

gg73) @A)

[4001]-111

ARATIT R, “HATEHTIT SHTEAT, TRTAUT TR, TSGR & T ATRRY, HeaTq
TR-TATH, HRIeeTqR i AU R UL o J&T THeTs & qae § fyrentaet-
o ferEar 2

antfeen / afet st et TR, eifer g, AR | ata, @« fPreor wwe,
AR T TTEATI UE B e Torearn/ foraedt 2 1

arfer / erfam amt, we 9. 21, ST JUTeHe, Hedl TR e | aHiR/
FHAT AT ot 19 forame o foru fFwson / st v foraan /foradt 2 )

e /ae Suteat, 380 eI Us, |iTe! @ gt uaR, u=aet, ATfih
! T Bichl 20 | T@ B W1 q9T8 Ut/ eifire ot forear / foredt £ |

TreteRea ufese &1 Tw-TaeTs vedi § aR-oreH (V89uT) o 36 Sied
vider i : [6]

T 1ol H IR frgami ot 391 181 B | AR ki o fAmior
o O Tg@ AT fora B | TR Ui aTeea i gEeh! 3 31gd § |
HITHR G 7, 81 1 Tohfd R 2 | 99 udd ATATY, el hel T8d g0
TR, T2 wifeat wraneti @ R 3939 gu iR v arareRu-afite
Hied ot atfira srem fuen 2 3@ gfan & Fided 4 39 W g wa
ot TR o YR ATATERUT § Ugaam 8, 9 Feil hl T BT SR FRAT T
Treier wfia S@eRT TTTa d @ | 9% F81 ht 31Ha IiTd | e # g
AT & | WY 3T I Tehid hl shigreaell g i g T @ 2|

FreaferiRaa farwen o @ foret uer forwa st et e faeaw <hirfso

[6]
1) e am, st fany

2) WS HT WA HIST BT 2 |



797 4)

797 5)

[4001]-111

)

)

&)

Frafafaa 7 @ et 2t fawet W fommue &1 g e filke ) [6]
1) ==t feesie ue=t |

2) Rusem A wust i Fawit |

3) =@ S AT ST HTATUF g ATAT T |

4) I TUUEE

Freferfam sl sroren wrdt uftese &1 & # egae fifvm  [6]

The problem of unemployment is difficult than ever before.
Science has increased our dependence on machines. A large part
of world population is living in slums. We have not been able to
remove poverty. Science has made our life more difficult; and
miserable. Hurry, worry and unrest are the salient features of the
civilization fostered by science.

YT

HCATIEN F AT A=A fEeareit Y T Aifed 3@, &
Tean graara ves tera fAmior g or@. 3 e Jiitaee i wiid 3.
T 2Tl SraTe Ueh STe= foe SR, eaTar Wi ATl Siehl urEeTe
TG Ueh TH TR USAl. o1 FoAT TeeNd, Hogl HAegl AoA-T=aT grara
71 e e degt degt & THE T Hed chefl. TR BT WIS
T ATE A3 Fed hedl. foa= STfier srgen faan o,

FraforRaa gt weat ® @ fohrdi @t & s forfam | [10]
1) e &t @ areud Ty it |

2) e it i wmaT et & o it waTse |
3) IIATE & UE UERI &1 G4U | uiea i |

4) UF-AEA & UHR FATSU |

Frafaitaa fawai @ | formgl o W fewforat ferfa : [16]
1) AE=R Ateay

2) dfen gad T

3) fasmum o W

4) ST SAfereRT % e |

363636
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Total No. of Questions : 4] [Total No. of Pages : 3

P153 [4001]-113
F.Y.B.A.
ATPHT (SANSKRIT)
G-1 : GRYRT— (Surabharati)
(2008 Pattern)
9% : 3 aE] [TeRoT 707 : 60

oA — 1) ad Tvv sfard.
All questions are compulsory.
2) ITFIHSIT 3k QU YT FIAATA.
Figures to the right indicate full marks.

gy7 1) ‘e amfur ‘& faunTie Tt ShRIvTeTE Sigie SuSia fohar aRIdta TR 6.

From'A'and 'B' Sections translate each two into English or Marathi.[20]
& - faum / Section - A

i) T - ®E HP| F HEE TRYTA
foque: — I gAY S EUIh RUITCHEa Tareied |
T 7 fue, T fae| Aaena e Siftasvafis s
foqueh: ——  AETvIIhEAESh HRUMSATRA # g&d shiet— Ffa= sdwtuom
HTe qEISRA| T § gug|

i) “‘gem, @ yFTCEa: HuEn wAn TEEdqeier gfy fia: | ag araedt wegst
ToToTeaTT I T WG | a1 gaal el SRUIIITAT el Wl A
JTT Al eguel TR | WisfU agee Yean WISt WAT: VA ARude
3= ymTet: fafera: |

iii) & AATSSGUTREATZAE gergAr fafivaad a1 eRse wgar Jaea
Frafeaaaegae ade: amagisyaieRe sfag: quut faen sufve:
TTRTHATIV HATATEAHT SATCAHTAE FAATI ATaa o wiieh: e
Wh: T A AT | AT watfor gl

P.T.O.



g-fawmt/_Section - B

i) a7 agumEE fagm serio: |
ATERTTEf ATATHSRTEHT SaTga | |
HATATAAH LG AERARHATAT: |
THHT 39 deAw fagear s ||

i) vt ot wata wraerdeo:
yfafead aeeat T = gaamm|
q: Hhivaderad™ SRiguer:
UTETIhEeh 349 Haguia: ||

iii) TRl @ wEUT TA FHAHEE
fora: g gerfiansma feeatq)
ST g AT fahmr-
TR T AfeteHa T8 aeameH ||
gg72) ‘3 afur ‘T faWTITder TRt hivTeaTet TRl wEed wEteRor . [10]
A-fawmr / Section - A
i) “araugRedveaamgrgetiETl’
i) “‘fergunt: wfwrat wiargafa)’”
a-fawm / Section - B
i) “‘fafse o wEw 9w gty waem)”
i) ““sEeton gRTEmET aremategaatal’

gy73) ‘3 emfur ‘@ WWM@WWWW.
Write answers to any one from each section 'A' and 'B' [20]
A-faumr / Section - A
i) wifleeare UaTheamUtawd= foem e =,

Describe the views of Kautilya regarding the welfare of the people.

i) werdE e e w0,

Describe the education of Chandrapeed.
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F-fawmr / Section - B
i) T UM UUEETERH o JeaHTaT .
Evaluate the “urugtemmegsa as a Stotra.
i) ‘camsftaaaEarg’ Uk fagadsre U udieron .
Evaluate the ‘=amsfraaa@are’ as a Satire.

97 4) YA IaT=aTe SUS et AU Igarg ferar.
Translate into English or Marathi the following passage. [10]

WA fI9e TT=iHewy SFaas: 39T | 76 I9Ted STRIGIT foeTd fawmeran
qTH UEaST: | AT T SrruTie T faerata faredior: fimeamr: | ua weaemmne=
g Yferd: oIfed WRAQeT: | T, THAT, HIal, FHEM, FEIYA:, TUSH! SCATaT: Tl:
T T AT | JHUET, TAHUET, TAHUET & AHg: AT o g9n: | 3@ *gored:
gwer:”’ 3fa o auid goaua eife| wraew: fafaay wway fawem: sifea)
qReEn: A e A vagtal fafaas v awaiw) fataen: dea:
S | SRS N: Teiy f9aT: auTfu Tgas: qusd: TR ThTeadary
AW | 3T TS FRGUTITERITGIH: TREhI: TR STBRIAISTY ¥ Wived: WRaaT: |

TYT TSHTEHAT T HIRA AT SR i
L] ]
[4001]-113 -3-



Total No. of Questions: 5] [Total No. of Pages: 3

P154

[4001] - 114
F.Y. BA.

ARDHAMAAGADHI - PRAKRIT (G -1)

Je . 3 amd|

UTehd Tel—Uel 3 &h. &
(2008 Pattern)
[egor 77 : 60

Q1) Trandaeinto English or Marathi any Two from A and any Two from B.[12]
'A' TYA HIVIATE! Seiet TTUT 'B' WeA RIVIeATe! SIg el WHrel et Susiid 9Ty

<hT.

A) )

i)

TN M ATR-Ug A -giTeaur arfgent | forfer - wwommg e i
e 7 fehfr wetg | qeit awor et Aeren o ys s | purg st
guTiaswunaTe, W 7 fehfer guses | aen o feer - afewmoror ffsgon
gurfy wR-afeforam | wifer @ 2amee ™ arEaTen | ara et
T gitEt ‘et fem-ge - -Teit | @ WI-ut™ I1ES 9 ed-uE
YIS0 WUTE, E W - JEE gy AU aeedd o |

TUT SHTAUT AT THUYT Shiweat A7 TR | FA=Eq T | Swradt a9on wed—
TorsstTaTor U RN agwet | ot @ SaeRiwET | a% | ST AT Wi |
A T gt wfaet | wra afty wiae ggeau = wrenten | 4R afty ve d
T UM HUUTEH AETEEE fo | | T SATHUT BHUT 4 RSHTuuT a8 |
d 0T AT U | e giewan | e fag swn, o 9 wa-faem
- Tmrtesa smgaen St at fare-wust | | wurg, ““org fu sttt )’

Afedl 329 SUSH T | A FEGIA TAT T —h(g | T6H HAAT LT,
ARTE T —Ta T — 1 - |1 7=dT T IAEAuiafagl  aH —hAT—
ugETE wsfE smmafeEif erra—sa-favnue fugg | ash so-war-
U - -2 TgI Too[u SSaATuur SAfuredt qedl | Wit = oot ‘2,
THIHUIUT WeEeaTaetu | Tgun wivr, ©‘aramefE v 1’

P.T.O.



B) i) T fmr gousg wen faf-wmen wg enfir |

2t guregn AW aw e A -sa—weae T ||
3 AT HATS ASATSU ITATH T |
fogfere 3t Hroma-fe wmoge 1)

i)« wE gEay g s sEi s |
FIE @Ew v gt 7 w13 ||
Tsgi emaT woror fug fa afern gie |
Sett gon i @ € Feaeg-wdiu-arguo ||

i) Sw-feam =R 38 wisgwTE wurwio )
AeATH R—TAAT OIS Feus A1 ||
Hiwen ¥ g fodt, gon fa a &g uar &=
YN T SIUTHE SIS —ATIU0T - SYuuTt | |

Q2) Explain with reference to context any one from ‘A’ and any one from 'B'. [§]
'A' TE[T RIVTCATE TehTel AT 'B' HELH hIUTeATE! TehTel THE TAFTRTOT .
A) i) e T agT A AT o uags |
i) “‘wua fa far soit wEfa SR ggE a1’
i) “‘Trsearfedfaa g afz 1
B) i) ‘s qur 7 ufverg W gmmwi @3 @ g’
i) “Frade TeeE v yeneEa aaurtat |
iii) “‘=t & v vy Wi Yeg=aet gifes wATe 7

Q3) Criticaly evauate ‘faen fafgon 7=’ and explain the mord of the story [15]
‘Trenfafzon g’ o fafeeas uderor wu snfor wa= arud T w0

OR / feram

Critically appreciate Trzemt gauu=my’ [15]
NG GAUUERY 31 UTeTe fadere aiterut .

[4001]-114 2-



Q4) Critically evaluate ‘srami srsspa—ehgrorars” and explain the moral of the story.

[15]
‘AUl ST hEuTETs o Terfehcres adieTor R STTUT ShU ATeUE YUY AT
OR / ferant
Critically appreciate ‘srgatuaear [15]
‘STGATUEHAT AT UTSTel fraeHTeHeh UieTuT .
Q5) Give notes on any one from 'A' and any one from 'B'. [10]

'A' WEA FHIVTEATE! ThTAR ATIUT 'B' WeH HIvTeamd! Tehtar Ziat forar.
A) i) wEEE

i) ohaersa afza greme

iii) =eafrssTeOaRT
B) i) wiwawma

i) oo 9 g

i) femEggss

363638
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Total No. of Questions : 5] [Total No. of Pages : 3
P155 [4001]-115
F.Y.B.A.
G-1: Pali (utfer)
Pali Kusumanjali - Chatuttho Bhago
qTfet TS (T —ardeel AT
(2008 =)

Time : 3 Hours] [Max. Marks : 60

Q1) Translate into English or Marathi any two from 'A' and any two from 'B'. [20]
'A' TgT HIUTETE! ST ST 'B' W VTS SR TRISH el SRHE HINiR .

A) i) o TUUETEUN TEETeAt TafefEai-  ‘aeaedt T, Seud = ’rauss

| A= o THUTETEIN TaETiGAT TaTeigAl- * sraedat @ihl, 359 a

Hrawsst” | Fvdch FHUGTEION TaaTiet TEfgigai- “ atvaan @ienl, 3and

= wrr T s mewm reee me e e

iehl, 3qHT U= WOHSS | 9= o THUTHTAIUT TEaTieAt argiet—  d

g 9 WK, 3eRT = "awss | ol Afa uAth WSSO uEatteAt

vafef-“arest fid atest TR, seua w= wrawsst’ fa| @=d o dHuTsTETon
TaaTieAt Tafefzat— ““gife qUmTa W won, seua uwl ’ewss | fdl

i) “‘ozmutfu fieed, a1 HIT TREHEUT THT TEaT q1 AEUHTT el TRt
T, TUHEE a7 AT WEd o d9d o fal=id o vawd @,
forerea, oty wifafe siufierf gyeafefeeryf gsatfa ot awm
TaTferfrET el AUl Wty A T Sy sferET WEd o
aua = et =)

ATy, fiered, s dfcod wTE wgewd fogyg fenmaaergs T8
AT TH SETARRATT Todl ATHTERT AW ATHIg HIEd 9 qud =
foafa =; wawa @, faeea o st it gesrferiaace
HEATH AT WA AAHA AT el A=l A, A an <at fogf
AR HrEd = qud = el =)

P.T.O.



iif)

B) 1)

iif)

[4001]-115

FferETl [ u=oal T 98 ATHEH 7Ed, T 7 o orgite- gt weswat
Tt ferg wv st erg afd e aitreefy) gt g afeagiz
gRuraaghan @rfed 7w mn g szarfy agdfomfy enfewet,
TigAuUUTZHer 3fEd WEA FUTIUul HeR wiewAld, Tggw 31 WivTen
T4 Igeh SWIHTd, WIE Ay ey W 3geh fufoam, sragud Am
THEAE oA Suaaied, 3E uwsdl Tean Uafy sfuarana wug
Tarferpforeamt’” fa

A W WA KV Afeer gATE Moty i Ig™ EAT yaRkiu|
Y T TIEAT AT TURAT TR JUhZ! STCTHTT SATaT gfgan forgema 7
FEEREuiEEE R3a g aa st afesewar suaus fagtf| e
i, gfed FRriE, % wuiiE, AR SeurdT ATfd TS| STesTail o
T YA Al FURE 3R SR 1Y W T el Ui I
AT ATIHGR |

TET [ T FrET T A WeRat o it
QrERE T qu9g W Srari| |
rhaRE fasemuf iR oargdia |

T AMHES HIFT a9 JH FTEI071 |
Tty e 9 TH 91 Y] Y GHTGH]
Wreh fe gt awg A S|

f&¢ AId uerRH, T8 U9 ST
TR W STedl ehdasslidl STl |
IT gAY Y U B SArEron |
NI ol TN e TSt~ A atl |
I UK IR 91 gRUR 9 foefa)

e forege awg g srarvil|



02) Explain with reference to the context any one from 'A' and any one from'B'. [10]
'A' HY HIVTATE TRT 0T 'B' WET HIUTATE TohTel HewieE TRt foret.
A) 1) ‘za, TveEd, Ty Hiean gid, T ResaEdal fogid, oo s =T
Y Ty wagET, wae ety feemg)
i) ‘wfuriaar @t 9, <@, ATt GTEd ST )

B) i) g e sifafea dimae srfaat 3 s feanfaem)
i) oreag MeglR srTfE |
TR ETRATCES qug sIfw smaron| |

03) Whatis Udana? Explain the essence of Culapanthakasutta. [10]
3G U 1 ? Uy UR T FH.
OR / fehan
Explain what is 3fagme and explain feerforms.
FTAgaeh FEUN 1T d TUY HE HERUEgd T &.

04) Evaluate critically any one. [10]

HITITE! Ukt Terameres udieron .
1)  TETE.

i) weg.

05) Give notes on any one from'A' and any one from 'B'. [10]

'A' AT HIVTATE TehTaR 3101 'B' WeT Shivreamdt Tehter it forar.
A) weaUEEET or ditgEa s wisdom. (e =TgH )

B) 1) Concept of g according to AT, TSHATTTAR i & HehodT.
1)  aregme.
EEN
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Total No. of Questions : 4] [Total No. of Pages : 2
P157 [4001] - 117

F.Y. B.A.
ECONOMICS
G-1 : Indian Economy

(2008 Pattern) (1154)
Time : 3 Hours] [Max Marks : 80

Instructions :

1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer the following questions in 50 words each. (Any two) : [10]
i) Explain the concept of Per Capita Income.
i) Explain the concept of Net National Income.
l11) Explain the concept of Information technology.

V) State the water resources in Maharashtra.

Q2) Write notes in 100 words each. (Any four) : [20]
i) Age Composition.
i) Green Revolution.
1) Human Development Index.

Iv) Industrialization.

v) Cropping pattern in Maharashtra.

vi) Social Security.

P.T.O.



Q3) Answer the following questionsin 200 - 250 words each. (any three) : [30]
1) Explain the population as a factor of Economic development.
i) Explain the place of agriculture in the Indian Economy.
iii) Explain the needs of planning.
iv) Explain the Industrial policy since 1991.
v) Explain the causes of industrial disputes.
Q4) Answer the following question in 500 words each. (any one) : [20]

1) Explain the characteristics of Indian Economy.
1) Explain the problems of Sugur Industries in Maharashtra.

363638
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Total No. of Questions : 4] [Total No. of Pages : 2
P157 [4001] - 117

F.Y. BA
SOMIEC]
G-1: WA TASTITAT (1154)
(Faia TATESHA ) (2008 Te)
(TSt wUTaR)
g 3 a4 [wggor 7o7 : 80
gaT: - 1) @d gv7 qistant smavae Ted.

2) SwHiwEier ik guf T FIffaAra.
3) deylars? ge 7St gETalAT GETEl.

gy7l) et agAl gkt 50 veaia SW forer.  (Fivradt 2F) ¢ [10]
i) SIS U AeheUAT TIE .
i) Tioae UEE Scu=T=t HeheudT TIY .
iii) wfEdt T HeheuAT TUY .
V) WERTETEIe Serred |rt 9.
Tv72) Wt 100 veata fun ferar. (ureard =) [20]
i) ot
i) wfashrdl.
iii) wreht foerra fdsrren.
iV) eftesnfirehrentor.
V) WEREHA Uik .
vi) wmTReR gRe.
Ty73)  @relier ggAre ekt 200 - 250 vegi S e (@vRd @)« [30]
i) iR anfeen faermam=n Uew 3T Te .
i) uRdr srdegaedd eier T T .
iii) e rarvaeRar Ty W,
iv) 1991 = siteoAifreh XuT TUE &.
V) SiEnfiTe wheteTet RO TIY .

P.T.O.



gy74)  refter geATeEt Teaeht 500 vsaia I forer. (R Ue) ¢ [20]
i) R srefsaawh Sy e wa.
l) WERTEHE ATER ISTT=AT THET T .

363638
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Total No. of Questions : 4] [Total No. of Pages : 2
P157 [4001] - 117

F.Y. B.A.
ECONOMICS
G-1 : Agricultural Economics

(2008 Pattern) (1154)
Time : 3 Hours] [Max Marks : 80
Instructions :

1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer the following questions in 50 words each. (Any two) : [10]
1) State the nature of Agricultural Economics.
1) Explain the concept of foods self sufficiency.
1ii) State the concept of contract farming.

IV) Explain the concept of Agricultural Subsides.

Q2) Write notes in 100 words each. (Any four) : [20]
1) Budget Allocation.
i) Green Revolution.
iii) Bio-Technology.
Iv) Advanced Irrigation.
v) Self Help Group.

vi) Patents.

P.T.O.



Q3) Answer the following questionsin 200 - 250 words each. (any three) : [30]
1) Explain the causes of Low productivity of Agriculture in India
i) State the merits and demerits of forward marketing.
Iii) State the advantages and disadvantages of traditional Irrigation.
Iv) Explain the characteristics of Agricultural Labour.

v) Explain the definition and issues of setting prices.
Q4) Answer the following question in 500 words each. (any one) : [20]

1) Explain the causes and Remedies of suicide of the farmers.

1) Explain the advantages and disadvantages of W.T.O. in relation to
Indian Agriculture.

363638
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Total No. of Questions : 4] [Total No. of Pages : 2
P157 [4001] - 117

F.Y. BA.
ST
G-1: ThET 3TLATTE (1154)
(Faia TATESHA ) (2008 Te)
(TSt TUTaR)
Je : 3 ard] [wggor 7or: 80

gaAr: - 1) @d gv7 qistant smavae Ted.
2) 3vdiEEier s qur qur FIfaaTa.
3) Tgwiarst ge FEwt TvT TfEHT TETEl.

gp71)  Erelter geArel et 50 veata I forer. (v 3F) ¢ [10]
1) FEl IV TEY .
i) ““erraTa wrEmqUiaT  # HehedAT TUE .
i) ‘e’ § geReuHT @rm.

V) ‘et TEm E HeheuT TIE .

Fv72)  wedh 100 vieaia feun e, (ot 9w) [20]
i) oiETe umehi e,
i) sRaseT.
i) Sa—dEw.
V) emygie Jee.
V) T WEREdl e,

Vi) T T,

P.T.O.



gy73)  wrelte gyAreh gereht 200 - 250 vreai I forer. (R /i) ¢ [30]
i)  RATdier Ve IeuTeehdl SHT THUAT HRUT TS .
i) emyfae faswt saawe= qur-a1w |,
iii) aRuTies ser faemn o wEe -are |,
iv) vrmsR afvrea fave @
v) forma fafvadieh sweuat enfur for fafas g2 wos w0

To74)  @relte gyATet gkt 500 et S forer. (ivraTEt ue) ¢ [20]
i) VA== ATeHgcAT= SO AU SUTH JAT Torore .

i) 9N A= Gedid JRTdTeh SaTUR Heea hiae—die TI8 &,

363638
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Total No. of Questions : 4] [Total No. of Pages : 2

P158 [4001]-118
F.Y.B.A.
POLITICS (Political Science)

G-1 : Government and Politics of Maharashtra
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt any two questions (in 50 words each) [10]
1)  Bilingual Bombay State.
i1) Bahujan Mahasangha.
ii1) Right to Information.

iv) Gramsabha.

02) Attempt any four questions (in 100 words each) [20]
1)  Demand of Separate Vidharbha State.
11) 'Nagpur Pact'
iii) Importance of 1978 Elections.
1v) Co-operative Movement in Maharashtra.
v) State Election Commission.

vi) Dalit Movement in Maharashtra.

P.T.O.



03) Attempt any three questions (in 250 words each) [30]
1)  Explain the Industrial Policy of Maharashtra.
i1)  Explain the importance of 1995 Vidhan Sabha Election.
iii) Discuss on Maratwada Vikas Andolan.
iv) Explain the contribution of Farmers Movement.

v) Explain the role of Governor in Maharashtra Administration.

04) Attempt any one question (in 500 words) [20]
1)  Write an essay on Samyukta Maharashtra Movement.

i1)  Give review of the performance of Maharashtra Congress Party.

[4001]-118 -2-



Total No. of Questions : 4] [Total No. of Pages : 2
P158 [4001]-118
F.Y.B.A.

ITSYQAMMA
(Political Science)
G-1 : HERTE ATHT IO ISTHROT
(2008 gc+)
RIS HYTAR
e : 3 A [wegor 7ot : 80
AT (— 1) @ T97 QISIA0 HavaE TG,
2) ITFIHSIT 3k GOl YT FIAATA.
3) T@gularst ges su<il wvaalAwT ugETal.

Fy7 1) TR T YA WrEa (Sereht S0 vree): [10]
) e gag T,
ii) g wEEy.
iii) Wi erfeeRr.
1v) UTHHEHT.

TPT2)  HIURE SR Te Hean (et 100 vsgm): [20]
i) oaw faew TeaT= AR
i) TR R
iii) 1978 = Fasuhe wEa.
iv) WERIETel HEehit wreseres.
V) ST fHasueE S
vi) WERIET gferd wrede.

P.T.O.



777 3)

777 4)

[4001]-118

FIRE A T Frea (ST 250 o) [30]
i) WERTE 3iigfie oo TIg &,

i) 1995 = faemaw Fasvhie we wWE &

iii) WrSATST foehm@ StiereHT= ==t .

iv) Vsl TBadE ANEH T8 &,

V) WERTEAT I9MEATaie TeauTeret it T8 &.

HITATR Th T2 drgar (500 vrsera): [20]
i) vgF TENY dsdsier Hay o
i) WERTETHIA SHIUE UATeAT HIWHRET STTeTar 1.



Total No. of Questions : 4] [Total No. of Pages : 2
P158 [4001]-118
F.Y.B.A.
POLITICS (Political Science)
G-1 : Social and Political Movements in Modern Maharashtra
(2008 Pattern) (Optional)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt any two questions (in 50 words) [10]
1)  Integration of Marathi speaking People.
i1)  Sugarcane Price Issues.
1i1) Dalit panthars.

1v) Adivasi Movement.

02) Attempt any four questions (in 100 words) [20]
i)  Religious Reform Movement.
11) Devdasi Movement.
1) Leftist Labour Movement.
iv) Unorganised Worker's Movement.
v) Samyukta Maharastra Movement.

vi) India v/s Bharat.
P.T.O.



03) Attempt any three questions (in 250 words) [30]
1)  Contribution of Brahmo Sama;.
i1)  Write the role of Womens In Anti Liquor Movement.
i) Non - Brahamin Movement.
iv) State the contribution of Justice Ranade in Social Reform Movement.

v) Give review of past Dr. Ambedkar Dalit Movement.

04) Attempt any one question (in 500 words) [20]
1)  Discuss the contribution of Mahatma Phule as a Social Reform.

i1) Write an essay on Farmers Movement under the Leader ship of
Mr. Sharad Joshi.
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Total No. of Questions : 4] [Total No. of Pages : 2

P158 [4001]-118
F.Y.B.A.
ASALTRST
G-1 : YD AERIEIIIT ATATOTD T ISTHIT ASd!
(2008 ge+) (Optional)
RIS HYTAR
e : 3 A [wegor 7ot : 80

geqar :— 1) @d gv7 Tisav rayas: Sied.
2) IwdiwSier 3 guf Jur FVffaara.
3) Tgulardt ge sui TvTIiAST Tl

Fy7 1) Erelter Yokt SRR G ST @rean (SRt S0 wrsei) [10]
i) TSt WS Ve
i) 9 9L dqqe T
i) afera dord
iv) snfear weas

Fy72) Ereltel Yehl SRIOTAE R S @rean (serht 100 vrser) [20]
i) umiieh GURUT T&aD
i) <aeE T@aes
iii) =Tt TR Tod®
iv) ITEuda SR TS
V) HIF WENTY uReg
vi) s foeese uma

P.T.O.



777 3)

777 4)

[4001]-118

oAt Tehl SIOIAET W T97 Hiea (Sredeht 250 vregia) [30]
i) ST AREE.

ii) grEadl A@aidie AigeTe giHewT forr.

i) FTER T@a®.

iv) 1. T2 I AN GURUT Teaa el TRTeT.

V) ST SAEgwitR Ifeid Teadien ATETT T,

Wrefter Yol HIUTATE Tk 997 weat. (Feeht 500 wrsaia) [20]
i) TU® Ou GUNS TEU HETeHT Tl ITeal ARTEHTR Tt .
ii) YRE A= Agcar@Teial Naskd Teaciar Hay forer.



Total No. of Questions : 4] [Total No. of Pages : 2
P159 [4001]-119
F.Y.B.A.
HISTORY
G-1 : World After First World War - 1
(1918 - 1992) (2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.
Q1) Answer the following questions in 50 words each. (any two) [10]
i)  Explain the principle of ‘self-determination’.
ii) Whatis ‘pan-Africanism’?
iii) What do you know about the, “Truman Doctrine’?

iv) State the Meaning of ‘Liberalization’.

02) Write short notes in 100 words each. (any four) [20]
1)  Policy of appeasement.
i1) The objectives of Indian Five years plan.
iii) The ideology of Nationalism of Dr. Sun- yet- Sen.
iv) Principles of 'Non-Alignment Movement'.
v)  ‘New Economic policy’ of Lenin.

vi) Nature of Feminism.

P.T.O.



03) Answer the following questions in 250 words each. (any three) [30]
1)  How far did the treaty of Vers aillise responsible for the World war - II.
i1)  Explain the role of Martin Luther King in the Civil Right Movement.
ii1) State the objectives and administrative system of the SAARC.

iv)  What is ‘Environment’ ? Discuss its problems.

v) Explain the role of America towards the 'Globalization'.

04) Answer the following question in 500 words. (any one) [20]
1)  Examine the Humanist achivements of the League of Nations.

i1)  Account the events of Indian Freedom Movement during the period of
1945 to 1947.
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Total No. of Questions : 4]

P159

[4001]-119
F.Y.B.A.

sfaer™T

[Total No. of Pages : 2

G-1 : World After First World War -1

(1918 - 1992) (2008 dec+)
RIS ®UTAR

AP ; 3 ]

geqar :— 1) @d gv7 SifFard 3mga.
2) ITHIHSIT 3k QUf OT FIEATa.
3) T@gulardt ges su<il wvaalAwT Ul

[Tegor ot : 80

777 1)

77 2)

wrelter TgATe S TR 50 veaie forEr. (g &)
i) ‘v e’ T W,

ii) ‘e eMftReRTaTE TEUN T ?

iii) gua aean foweht grem ww wiiEd o ?

iv) Seriesturren atef @,

Tt 100 vregia feun fergr. (e =m)

i) I R

i) R goaniye a3k,

iii) =f. F-Ia-9= = Agag fauEe foemseE!.
iv) erfeTdaTaTe Jeaset aw.

v) wffa afem enfdfe aiwor (NEP).

vi) i arer ey,

[10]

[20]

P.T.O.
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777 4)

[4001]-119

Wl Tyl IR TR 250 viseta fot. (SionE @) [30]
i) SEEiEe qE gEAT WETgg fhqud wRufis ot 7

ii) AT gk TBaBdier ATfed oger fomment it favrg .

iii) @k = IREA T UITERE AT |,

iv) ‘Uaierur’ UK T ? TSt AHETE et .

V) SNTATehIehuTTd e i fRehelt fHeht T8 .

et agare 3w 500 vreeta forgr. (vt ) [20]
i) UgEETEAT AEAATETEl HETe TiReTur .

i) WRAE @A deardid 1945 @ 1947 a1 wie@sT gseiedl geqren
AT =&,
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P160 [4001]-120
F.Y.B.A.
ANTHROPOLOGY
G-1 : Introduction To Social And Cultural Anthropology
(2008 - Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer any two of the following in 50 words each. [10]
i)  State the functions of Headman.
i)  What is shifting cultivation?
iii) Write the meaning of nonmaterial culture.

iv) State any two characteristics of Tribal Economy.

02) Write short notes on any four of the following in 100 words each. [20]
1)  Ape Man.
i1) Endogamous Marriage.
i) Formal Means of Social control.
1v) Shaman.
v) Belife a element of culture.

vi) Age of marriage among tribes.

P.T.O.



03) Answer any three of the following in 250 words each. [30]
1)  Explain the relationship of Anthropology with other sciences.
i1)  State the nature of Judiciary among the Tribal Community.
iii) Elaborate the various stages of Tribal Economy.
1v) Describe the characteristics of culture.

v) Explain the scope of Anthropology.

04) Answer any one of the following in 500 words. [20]
1)  Explain the theory of Origion of Religion.

i1)  Elaborate the kinship behaviour among the Tribal Communities.
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P160 [4001]-120
F.Y.B.A.
ANTHROPOLOGY
G-1 : Introduction To Social And Cultural Anthropology
(2008 - ge+) (Ff3=1 r=aT=IhH)
RIS HATAR
9% : 3 am] [Tegot 701 : 80
gar :— 1) @d 997 @islan sravas 3iE.
2) IwimSter ek qul JoT FEfaara.
3) @gwlarst ges su<il wvaalAwT UgETal.

g7 1) AT RS G Ty IW T 50 wegivd forer. [10]
i) TTEuHETet %E W,
i) ToreTrafa St TEUR wE ?
iii) ervitefier Tehdian oref foram.
iv) onfaam stdeaaea=h g afvrsa .

97 2) Wiecteh! ShivTeaTdl IR o) Tedeht 100 vregiasia drar ferar. [20]
1) U9 "Ed.
i) erafdaTe.
i) o FreEoTsh sitoeRe w@TeR.
iv) wma.
V)  ‘orgl deehdrEn gesw.
vi) snfearimeie faar awia a9.

P.T.O.
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777 4)

[4001]-120

i) W TETET A IV TEUTRT HE Y T &,
i) enfearmeie =maeE™ @ea arm.

iii) erfeare srefeaara=an fafay sraxem= guia &,
iv) wERdrEt afvTEa fave &

V) HHESTET SaTHl T8 &,

WTeATAUeh! THITTATE Teht TgaT= I 500 vsgiuda fetar.
) o s faga we .
ii) nfear FHTETAA ATAEaUTITTeh AT U .

[30]

[20]



Total No. of Questions: 4] [Total No. of Pages: 2
P161 [4001] - 121

F.Y. B.A.
GEOGRAPHY (G -1)
Gg — 110 : Physical Geography

(2008 Pattern)
Time : 3 Hours] [Max Marks : 80

Instructions :

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.
4)  Use of map stencil is allowed.

Q1) Answer in 20 words each. (Any Ten) : [20]
1)  Define physica Geography
i)  What isfolding ?
11l) Write any two causes of volcano.
V) What is soil ?
v) Give any two evidences of '‘Continental Drift Theory'.
vi) Write any two landforms formed by erosional work of sea waves.
Vii) What is weather ?
Viii) Define Global warming.

iX) Define Isobar.

X)  Write the types of precipitation.
Xi) What is Airmass ?

Xii) Define ocean salinity.

Xiii) Name two role models of water conservation.

P.T.O.



Q2) Write short notes in 50 words. (Any Two) : [10]
1)  Block mountain and Rift valley.
1) Causes of earthquake.
lii) Temperature inversion.

iv) Ralegan Siddhi.

Q3) Answer in about 150 words each. (Any Two) : [20]
1) Describe nature and scope of physical Geography.

i) Explain "Plate Tectonic Theory."

i) Explain vertical distribution of temperature and normal lapse rate of
temperature.

Iv) Write in detall, the monsoon winds in India

Q4) Answer in detail with 300 words each. (Any Two) [30]
1) Describein detail classification of rocks.

i) Describe the landforms formed due to depositional work of river.
iii) Describe the factors affecting horizontal distribution of temperature.

Iv) Writein detail the general idea of submarine relief.

363838
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P161

[4001] - 121
F.Y. BA.

P (G-1)

Gg-110 : UTeh{deh ST
(2008 ) (FIET ®UTaR)

Je : 3 amd] [ogor 7or : 80

- 1) & gv7 qislant sravad JTEd.
2) s o ot T FAAT,
3)  srravaE A9 A IHTHT FHIET.
4)  FHTIIT RfHed ITRITE T e,
5) @aylars? ge 37wt gvTalIent vErat.

T971)

797 2)

ekt 20 vreaia I forET. (SR FE) | [20]
|)  TeRfdeR STt SATEAT .

i) aferentor rguret T ?

iii) varemgeE fraeh o g s fore.

V) T U % ?

V) TEaed fagia wivad 9 g fore.

Vi) ERR et T feRige fmiun g svreTEt S aTteRriet A forer
Vii) | e & 7

viii ) afoaer aroAaTE = saREaT = .

iX) wHTaRETE sarEat forer.

X) e TEHR Toret.

Xi) STl U wrE?

Xii) HTRSe TRae sarean forat.

Xiil) STCTHERUTTSAT g9 TS ITERT= 1d |A.

Teaeht 50 yregra feut foretr. (ivmet g ) ¢ [10]
i) Treuda et weed
i) e w0
i) arommETen ferafaan
V) TreroTiirEl
P.T.O.



Tp73) W 150 e S . (e 9) [20]
i) UTHhfde SPTe™ TEY T SATH! T .
i) “‘qicradadht g’ T &
i) aroaET 3w fRnde foaor @ ama g /<g@ R W w1,
iV) WRATde Wadt g afeeay Jui| .

gp74) st 300 vieaia wfere I forEr. (HUwE 3) [30]
i) e AR STeRIOT .
i) e srores e fmfor o qomeRis v w0,
i) o fafasranar faaromar uftomm swom=an geswr Ui @,
iV) TEEm AR WA Al Ui .
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LGl
(2008 Ue)
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[Total No. of Pages: 1
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2) AT T U U IFRT GyATIH] HIVIAgT A7 T UHIT TR

Iy @ieal.

797 1)

797 2)

797 3)

T974)

797 5)

FAUATA TehaT STE ATATHT SHIVTCATE! TehT AT HYUT ITE1 Aitee foTgd 2Tei-

A Tgd A dqTed @ &l

WAt Tehl SHIUTeATET UTel saREdT ferar.

1) =me 2) ©=

3) <t (ATe) 4) smada
5 T 6) &
7) wm 8) =
WTeATer Uehl shivTeaTat 219 o) feur ferar.

1) =R 2) 3@
3) g@=t 4) &I

WA T Ueht hIUTeaTET Teht foraemer foam= forer.
1) dEcaTdie Uit e agdt
2) Y. WTAEE Ugd e arer—ferdt

. EOQEA @ Tohal 3. EHES feReRat ar Sfiaq o foret.
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P162 [4001] - 122
F.Y. B.A.
(G-1) : U SheAT TAW T —FI I ATHT
IFTEI T
(2008 Ue)

gz : 1.30 a4 [wgpor 7or : 20
gaar:- 1) a7 gerdier rEia TEE, AR e aw@er arda) it vw
gyt qieal.
2)  ufgem 3y AT ST,
3)  AErd g v sife IFRT TTATGHT HITAET AT G THT AR
97 FiEal.

Tg71l) AT AIATHHUTATA HIVTATE TehT WA Aed -1 T TR —TeAfuerg s, [5]

Ty72) oo faead fohan qurelt (sa) o Geht SRIvTeaTEt Ukt el Jyut e
HITEdT TR ERIE Ushe AT6E ToTat. [5]

T973) kAT Tohan diaret o Uehl RIVTeATE Ukt ATATS STt ShTet Ugd 14 i . [5]

gT4)  wreiiet Ukl RIUCATEl UTer SarEd fore. [9]
1) STuR &R 2) @w
3) = 4) A=
5) =R 6) gwue
7) A= 8) Ws W
gg75) Wrefier Gkt swivreaTdl g a1 feun forer. [5]
1) iR 2) oW g
3) o HaTE 'R 4) T ATt
5) wH=

PTO.



T776) WA Yeht ShivTeaTel et Tftasre sita =i forer. [5]
1) . Ty fErrer uegeR
2) 4. foup AR waeE
3) Tt siem™

T 7) WAt Gehl wivcATEl Teht foreamer faean foreT. [5]
1) Sfaa sufor @ |
2) @ AT ehedT
3) wer Gifta fawa staEa wwo.. .
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P162 [4001] - 122
F.Y. B.A.
(G —1) : TS Shedl TAW T -G ATHT
AR
(2008 Ue)
gz : 1.30 a4 [wgpor 7or : 20

gaar:- 1)  ulzer 3vT siHAarT T8,

2) AT T ek Sl IFRT TyATGHT HI0TAET AT G THT AR
97 @iga.

To71l) AT SAATHHUTATA VAT Ueht T HeA -1 T TR -Tofuag s, [5]

Ty72)  sreed faeae fohan quret (Yu) a1 ThY HIvTearEl Tt W Syt wea
AT ATRIE-3Taiig-Uehs e forer. [5]

T973)  SAUAT ThaT ShiaT AT Ul FIVTEATET Ukt ATeATS TSt —ehTel Ugd 4 e . [ 5]

To74) Wrefier Gkt SivTeTet urer s forat. [5]
1) == 2) W=
3) #ie 4) erEdq
5) warE @R 6) T
7) @m 8) o w=R.

7975) el G e 2w fan fere. [5]
1) omema 2) WiE-3rEE
3) - TR 4) srgerm-faemm

T976) W@refier Teht wIvTeaTet Uent forwamer foramm ferer. [5]
1) TR-GEA ggdr 2) . Tfersrem

3) . fory AR waEE
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P163 [4001] - 123

F.Y. B.A.

PUBLIC ADMINISTRATION
G —1: Indian Administration

(2008 Pattern)
Time : 3 Hours] [Max Marks : 80
Instructions :

1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer the following questions in 50 words each. (Any two) : [10]
1) The Legacy of Indian Administration.
i) Emergency powers of the president.
l1i) State the control over Administration by the prime minister.
IV) Functions of zilla parishad.

Q2) Write the notes in 100 words each : (Any four) [20]
1) Write the functions of cabinet - secretariate.
i) Composition of Rajyasabha.
i) Explain the functions of planning commission.
Iv) State the functions of union public service commission.
v) Composition of high court.

vi) Structure of gram panchayat.

P.T.O.



Q3) Answer the following questions in 250 words each. : (Any three) [30]
1) State the power and functions of chief minister.
i) Explain the power and functions of District Collector.
iii) Explain the Legidlative and discretionary powers of the Governor.
Iv) State the role and functions of the planning commission.

v) Explain the powers and functions of Legislative Assembly.
Q4) Answer the following questions in 500 words each : (Any one) [20]

1) Evaluate the powers, functions and role of the prime minister.
i) Describe the composition, powers and functions of muncipal council.

363638
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P163 [4001] - 123

F.Y. B.A.
ATHIITEA
(G-1) : WRA™T I9rrE—
(2008 UE)
(TSt TATaR)
Je : 3 ard] [ wggor o7 : 80

gaAr: - 1) @d gv7 qistant smavae Ted.
2) SwHiwEier sk guf qor FIffaATa.
3) Tgwiart gw Ut vTUAET 9Tl

gy7l) w@retler gt IW gedeht 50 veeta forer. (SRiurEl g) [10]
) WREE 9IEETRn SRET
i) rEude sTUitaTufisaT wTeTdier AfareR
iii) dagumETR gvEATERe e aem.
iv) Rregmaftaes w .
Fy72) weaht 100 wisgia feur foren. (vt @) [20]
i) <hfere afameamt @ o
i) TegEuE AT
i) frEa T S Ty .
V) TEciRaaT ATET= & .
V) S SETEart ®ET,
Vi) TmUEEd e ey,
Ty73) WAt gt Teaeht 250 yegia W forer. (SRivaet /1) [30]
i) geawEm stfter snfor & T,
i) ToeeTeerram=t arfierr STfur et Taw .
iii) TauTETe wERfYTe o faawttim sifier T w0,
V) =TT STt gitesT enfur e T,
v) faummae sifarer snfor o wow .

P.T.O



gy74)  @refter agaret 3w 500 vreaid foret. (shivre ueh) [20]
i) UauaTTe SIfUHR, wTE F YiHeRT A YoawTaT .
i) TRORwe=t AT, iR 9 wEte auia .
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P164 [4001] - 124
F.Y. B.A.
PSYCHOLOGY
G-1 :General Psychology
(2008 Pattern)
Time : 3 Hours] [Max Marks : 80

Instructions :

1) All questions are compulsory.

2)  Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

Q1) Answer any two of the following questions in 50 words each. [10]

Q2)

1) Explain the left-right hemisperic specialization of the brain.
i) State the types of apparent movement.
111) Explainin brief Allport's theory of Persondlity.

IV) What is giftedness ?

Write short notes on any four of the following in 100 words each. [20]
1) Neurotransmitters.

I1) Extra-sensory Perception.

Iii) Physiological changes in an emotiona stete.

iv) Maslow's hierarchy of needs.

v) T.A.T.

vi) Short - term memory.

P.T.O.



Q3) Answer any three of the following questionsin 200 - 250 words each. [30]

Describe the structure and function of cerebellum.

What is meant by Perceptual constancy ? Describe the types of
Perceptual constancy.

What ismotivational conflict ? Describethevarioustypes of motivational
conflict.

Iv) Discuss the various memory improvement techniques.
v) What is mental retardation ? Explain the causes and classification of
mental retardation.
Q4) Answer any one of the following question in 500 words : [20]
1) Define Psychology. Explain the various historical Perspectives in
Psychology.
i)  What is conditioning ? Describe the Pavlov's Experiment on

classical conditioning.Explain the various characteristics of
classical conditioning.

363838
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P164 [4001] - 124

F.Y. B.A.
PSYCHOLOGY
G-1 : General Psychology

(TSt TUTaR)
(2008 T2A)
Je : 3 ard] [wggor 7or: 80
gaT: - 1) @d gv7 qistant smavae Ted.
2)  swdlemeier s quf qor FvfEE.

3)  srTavaE T [3HUT Ak HATHAT HIET.
4)  deulardt e saet geAaAHT TETEl.

T971)  EeieTaeh! HIUTETET S TeATel I Tedreht 50 vreata forat. [10]
i) TeEwan gt — I9eT Mt faarsieor T &,
i) wmEme TR TR frre w0,
i) emeuré =i safeauca foraaes Iuust agwTa WY &,
V) weTEaar. (TS ) st w7

Ty72) WAt Sivreardt arier Seaeht 100 vrsara wfera Sar forat. [20]
i)  SATIRYE.
i) atfisha d@aem.
iii) et ferdtdie TR aga.
iv) Teern TRAgse fargia.
v) . u @ (U aEq ATEAST ATeviY)
Vi) SfeushTeileh Tdl.

P.T.O.



T973)  wrelerieh! ST di weAreh werht 200 - 250 veaia IR ferer. [30]
i) oTem Hge (rgafsh) T 9 wEte quia .
i) wrEefs feera wus w@ ? Aeeie fRrds Tere quie @
i) SR T rEuS W ? X geawiean fafay yewre quia .
iv) Tafae st gaw qamet = w0
V) ufdtiecd WU %1 ? WidWecaTe! ol o SRfieh{uT TIY .

Ty74)  WTAITaR! SIS Teht v 3w 500 vregia forat. [20]

|)  AEEVTETE SETEET g9, e [ Uaetiie i TS 1.

i) erfaeem reurs s ? T stfiraeT fasere degattasan T=hTe quiq
. ST srfsrEeETEt fafay afvrea e w0
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P165 [4001]-125
F.Y.B.A.
GANDHIAN THOUGHT
G-1 : Introduction to Gandhian Thought
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right indicate full marks.
Q1) Answer any two of the following questions in 50 words. [10]
i)  Briefly illustrate Gandhiji's idea of God.
i) For what reasons Gandhiji impressed by Jainism.
iii) Explain Gandhiji's views on faith.

iv) What is meant by basic education according to Gandhiji?

02) Write short notes on any four of the following in 100 words each. [20]
i)  Purity of Means.
11)  Anasaktiyoga.
i) Aims of Education.
iv) Gandhiji --- a Satyagrahi.
v) Idea of Sarvadharmasamabhava.

vi) Gandhiji's idea of Inner-Voice.

P.T.O.



03) Answer any three of the following in 200 - 250 words each. [30]
1)  Explain Gandhiji's idea of Non-cooperation as a way of Satyagraha.
i1)  Explain briefly the Seven social sins described by Gandhiji.
1i1)) Explain Gandhiji's views on traditional caste system.
iv) 'Gandhiji is an active philosopher'--- Explain.

v) Explain the impact of Ruskin on Gandhiji.

04) Answer any one of the following in 500 words. [20]
1)  Bringout the characteristics of Satyagrahi according to Gandhiji.

i1)  Explain and critically evaluate Gandhiji's doctrine of Survodaya.
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P165 [4001]-125
F.Y.B.A.
meffardt faeR
G-1 : il AR New
ARTIST HUTAR (2008 TS+ )
9% : 3 am] [wegor 7ot : 80

geqar :— 1) @d gv7 Tisav rayas: Sied.
2) IwdiwEier 3 guf Jur FVffaara.
3) @gwlarst ges su<il wvaalAwT UgETal.

gy7]) Wreieid ST @ TvAt s 50 wea forer. [10]
1)  efishiet 390 fowfi=h weuat ensaama fave .
ii) hIoTET HROTETS! Mt FT aETEH o 3T e,
iii) refistien sreqforeeian gEishia a8 .
iv) Tieifiean FaTER qere e o w2

g7 2) Wicicdeh! SHIuemd TrRier Tedeht 100 sregia drar fergr. [20]
i)  wreAvyfeE.
i)  erTatrE.
iii) freomeh D=,
iv) Tefisht——-— U g,
V) wduHauarE g weudr.

vi) e ‘AT et @ sheuT.

P.T.O.



97 3) wreleri S @ gy g 2003 250 et W e, [30]
i) weaTIETEN Uk AR ATgEA MiEfSEl dHge R § weudT T .
i) Tefifiean AATER AT AT UTd eNgeTd T .
iii) URURIH ATAcaaeageTa Teisiar gEieh T8 .
iv) “‘“mielist Uk AT aafdas ——— TISIRIn .
v) Tefstiader R o feemeEaren gure Ty w1,

97 4) Weicitehl It ekt T9ATa I 500 visera forar. [20]
i) eisTieaT AAER SEnEE v fove w0,

i) eisien qaiea fsgia e w67 @ ks geaauT .
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P166 [4001]-126
F.Y.B.A.
YOGA
G-1 : Yogvidya
(2008 Pattern)

Time : 2 Hours]
Instructions to the candidates :
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain any one from the following in 50 words.

1)  Types of Asana.
11) Layayog

QZ ) Write short notes (any two) .
1)  Pavanmukttasana.
1)  Pratyahar.
iii) Dhyan.
1v) Rechak and purak.

[Total No. of Pages : 1

[Max. Marks : 40

[S]

[10]

03) Answer any two question from the following in 200 to 250 words. [15]

i)  Explain 'Patanjal Yogsuttra' in detail.

i1)  Explain chittavritti and Measures of chittavrittinirodhana.

1i1) Discuss the Pranayama.

04) Attempt any one question in detail.

1)  Explain historical nature of yogascience.

[10]

11) Explain swami swatmaramas 'Hattayog'in detail.
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[4001]-126
F.Y. B.A. (2 g &)
G-1 : arrfa=n
(2008 T+T)

RIS ®UTAR

qS ; 2 aH]

gear :(— 1) @d gv7 @islao sravas .
2) ITFIHSIT 3k GOl YT FIAATA.
3) dgulardt ge sui TvTIiAST Tl

[Total No. of Pages : 1

[Tegor ot : 40

w97 1)

37 2)

797 3)

37 4)

WA eTteh! ShIvTeATEl Tkt 50 ITegia TIEThRIuT =01,
i) ATEATe YRR,
i) ==,

AT =T, (WUTEATE )
1) IS,

11) URER.

i) &I,

iv) YEreh it uieh.

WTHIGUh! HIvTeaTl 3 ggaret 200 9 250 visaia 3w =,

i) ‘UTdSTe O iR T9Y .

i) fomget enfor fFemgsiRg™ SUT™ Y w0
iii) STUTETHTER == .

WA TeTdeh! SHIUTCATE UehT T¥ATRl T’ 3T 2T,
1) JmeTET Ufagiiies Ty TE .

i) TATH TETHREET G AfaEal T8 .
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P167 [4001] - 127

F.Y. B.A.
HISTORY OF CIVILIZATION
Maharashtra Culture (Upto 1818 A. D.)

(General Paper-1) (2008 Pattern)
Time : 3 Hours] [Max Marks : 80

Instructions :

1) All questions are Compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer the following questions in 50 words each. (Any two) : [10]
i) Define 'Culture.
i) Gaongada.
l11) Types of Caves.

IV) Chakradharswami.

Q2) Write note on in 100 words each. (Any four) : [20]
1) Yadav of Devgiri.
ii) Baldicliterature.
1ii) Position of Women in Shivaji period.
Iv) Agriculture in Maharashtra
v) Dutta Cult.

vi) Festivalsin Maharashtra.

P.T.O.



Q3) Answer the following questionsin 200 - 250 words each. (any three) : [30]

1) Explain the contribution of the Satavahans in cultura history.
i) Takeareview of the literature in Medieval Maharashtra.

iii) Describe the caste system in Maharashtra culture.

Iv) Explain the arts in Medieval period.

v) Describe the 'Vorkari Cult' in Maharashtra

Q4) Answer the following questions in 500 words each. (any one) : [20]

1)  Describe the achievements of the Vakatakas in cultural history.

i) Discuss the 'architecture’ in Medieval period.

363838
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P167

[4001] - 127

F.Y. B.A.
HISTORY OF CIVILIZATION
Maharashtra Culture (Upto 1818 A. D.)

(General Paper-1)(2008 ﬁﬁ)
(T3t wUTaR)

do . 3 aE] [oggor 7o7 : 80

AT - 1) @d gv7 Gistant sravas ATEd.

2) IudtmSicT ik qur uT FAATa.
3) Trwiart gw U=t vTUAET TETEl.

797 1)

797 2)

et TeATet I Tedreht 50 vreata forer.  (wiurdEt 519) [10]
i) ‘depdt amh s

i) T

i) wvae TER.

V) <rsheREaTHT.

et 100 vreata feut foret. (sivmet =) [20]
i) Iafre aEs.

i) onfed e

i) TraewET S,

V) WERTgTdter oidl.

V) 39 Eued.

Vi) WERIETEie 9ot

P.T.O.



973)  @refter gt Teaeht 200 - 250 vreaia I foTet. (RoTag W) [30]
i) TR sfagTaTdiel ATaareaa TNTeT T .
i) FeagI WERTSETde ATfgeare e .
i) wERTE UERdidie ATdeaatan quid .
V) W HISTiA el T .
V) WERIPHS TR S9e@’ quid .

gy74) @refter g 3w 500 et forer. (SRiuTaEt uew) [20]
i) wiepfaw SREmTde STehTeawhT=aT HMARR qui &
i) Weag FTBTE TTIeaherat i &.
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Total No. of Questions : 4] [Total No. of Pages : 2
P168 [4001] - 128

F.Y. B.A.
HOME ECONOMICS
(G-1): Household and General Economics

(2008 Pattern) (1264)

Time : 3 Hours] [Max Marks : 80
Instructions :

1) All questions are Compulsory.
2) Diagrams must be drawn wherever necessary.
3) Figures to the right indicate full marks.

Q1) Answer the following concepts in 50 words each. (Any two) : [10]
1) Poverty.
i) Public Revenue.
111) Human Values.

IV) Standard of living.

Q2) Write short notes in 100 words each. (Any four) : [20]
1) Features of Economic Law.
1) Types of price elasticity of Demand.
1ii) Objectives of consumers movement.
Iv) Sources of Family Income.
v) Importance of Decision making.

vi) Problems in Home Management.

P.T.O.



Q3) Answer the following questions in 200 words each. (any three) :  [30]

)

i)
i)
V)

v)

Explain the functions of commercial Banks.
Explain the Law of Demand with suitable example.
Explain the factors that affect the taxable capacity.
Explain the stages in Home Management.

Explain the elements of interior and exterior home decoration.

Q4) Answer the following questions in 500 words each. (any one) : [20]

)
i)

[4001]-128

Explain the Law of supply with suitable example.
Explain the process of Decision Making with suitable example.
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Total No. of Questions : 4] [Total No. of Pages : 2

P168 [4001] - 128

F.Y. B.A.
HOME ECONOMICS

(G-1): Household and General Economics

(2008 TeH) (1264)
ST EATAY
Je . 3 ard| [ wggor 7707 : 80
e r: - 1) @d gy qistant smavae TEd.

2)  STavaE A9 A IHTHAT FHIET.
3) IwEtHEIeT 97 gur uT FEIAATA.

gy7l) Wreiier Heheudret 3w edeht 50 vregia forgr. (Fivmet 2) ¢
i) e,
ii) W e,
i) W e
V) TrETofHET=T g,
T972) ekt 100 visara feun ferer. (wioreamd = m) ¢
i) anfdfe Femmh afs.
i) wmTuiea feRma erafrerd= TR,
i) wTE® Twas 3ED.
iV) wigfaeh Icuame |,
v) ol ufsrae aeea.
Vi) g SHaeATIATA T |HET.
gy73) WreAte gyt 3w Teaeht 200 vreeTta forgt. (SRiurEt )
i) IR ST wTE WY .
i) wmTuiten e TR ToE .
iii) YR UTder UuTH iUk 92 TI8 .

V) T STIEATIATA T qra=at Taee .
V) 3idid g Sfia g Aadi ueeh T .

[10]

[20]

[30]

P.T.O.



Ty74) et gy gedsht 500 vreeia 3cak foret. (FivaTEl ue) ¢ [20]
i) UaeuTen e dieTer T 1.

i) i uferar e e w0,
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Total No. of Questions : 4] [Total No. of Pages : 2
P169 [4001]-129
F.Y.B.A.
DEFENCE AND STRATEGIC STUDIES
D.S. - G-1 : (A) War and Warfare
(2008 Pattern) (1274)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Answer in 50 words each. (any two) [10]
1)  Explain the meaning and concept of limited war.
i1)  State the strategy of Guerilla Warfare.
ii1)) Give the objectives of Psychological Warfare.

iv) State the importance of Economic Warfare.

02) Write short notes in 100 words each. (any four) [20]
1)  Consequences of War.
i1) Elements of Insurgency.
111) Modern War.
1v) Counter Insurgency.
v) Mao-zedong.

vi) Objectives of chemical Warfare.

P.T.O.



03) Answer in 200 to 250 words each. (any three) [30]
1)  Explain the nature of War.
i1) Describe in brief the evolution of Conventional Warfare.
ii1) Give the characteristics of Guerilla Warfare.
iv) Describe the effects of Nuclear War.

v) State the nature of Biological Warfare.

04) Answer in 500 words each. (any one) [20]

1)  What is Psychological warfare? Explain it's nature and means.

i1)  Describe in brief various types of chemical gas.

[4001]-129 (G -1: A) -2-
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P169 [4001]-129
F.Y.B.A.

[ARETOT ITOT AHRP 9=
D.S. - G-1: (A) gg 3o ggugs! (1274)
RIS Ww/UTAR (2008 ve+)
95 : 3 aE] [wegur o1 : 80
geqar :— 1) @d gv7 Tisiav rayas: Sied.
2) ITFIHSIT 3k GOl YT FIEAATA.
3) @gularst ges su<it wvaalAwT Ul

gy7 1) wielter Ty IW S 50 veaid forer. (o am) [10]
i) wEdE ggraT ot 9 HeheudT T &
i) W gg ugda enver |
iil) wTTETTEE Jgugdre sfewet v
iv) cnfofe ggugda wgea .

gg72) ud 100 veaia far g, (Somad =mw) [20]
i)  Tgm™ uRom.
i) fawram™ g,
iii) emyfe Tg.
iv) ufa fawera.
V)  HIeT ST,
vi) Tl gguagdre st

P.T.O.



37 3) Wrie gyt geht 200 9 250 vsga Sw foar. (g fiF) [30]
i) Igra wWEy TE w4,
i) URURIH Fgugdren Schidt fawg .
iii) T ggugden dfret arm.
iv) onfuass Fgrean TRUTHT JUA *A.
v) o ggugdia TEy |9,

97 4) @it ggAEl I 500 vegia forgr. (vt TeR) [20]
i) AFEITET gugdl U % ? fao T@wy enfur |nae Y WL

i) TETE{ TE=AT AMATEAT Teha U .

[4001]-129 (G -1: A) -2-



Total No. of Questions : 4] [Total No. of Pages : 2
P169 [4001]-129
F.Y.B.A.
DEFENCE AND STRATEGIC STUDIES
D.S. - G-1 : (B) Defence Organisations of India
(2008 Pattern) (1274)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 50 words each. (any two) [10]
i)  State the role of CRPF.
i1) What are the Limitations of Engineers.
ii1) State the Principles of Intelligence.

iv) What is the role of Infantry.

02) Write short notes in 100 words each. (any four) [20]
1)  Defence Organisation.
i1)  Ministry of Defence.
ii1)) Counter-Intelligence.
iv) ASC.
v) Role of Navy.

vi) Infantry Divisions.

P.T.O.



03) Answer in 200 to 250 words each. (any three) [30]
1)  Explain the Principles of Defence Administration.
i1)  Explain with the help of chart the Organisation of Army Head-Quarters.

ii1)) State the composition and Functions of the Defence committee of the
cabinet.

iv) What are the role and Limitations of Artillery?

v) Trace the growth of Indian Navy since1947.

04) Answer in 500 words each. (any one) [20]

1)  What are the characteristics, role and Limitations of Armored corps?

i1)  State the characteristics, role and Limitations of Indian Air-Force.

[4001]-129 (G - 1: B) -2-
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P169 [4001]-129
F.Y.B.A.

ARE&IUT F ATHRP O~
D.S. - G-1 : (B) YRdr= @xeor Fgedr (1274)

RIS Ww/UTAR (2008 ve+)
9 : 3 aE] [wegor 701 : 80
gar :— 1) @d 97 @Slav Havas .
2) ITFIHSIT 3k GOl YT FIEAATA.
3) T@gularst ges su<il wvaalAwT Ul

g7 1) gt 50 vegia 3w forgr. (ot g9) [10]
i) ©t.eTR.ut.uw. =t w aEm.
i) sl water e ?
i) VR FETEh A ",
iv) UTHgeTet S IV ?

gy72) e 100 vegia feur fagn. (womadt =) [20]
i)  TREIUT WEET.
i) wReTuT HATEA.
iii) ufa yegfoaeres 7M.
iv) uuE.H.
v)  FAtgerrt .
vi) urage fefegem.

P.T.O.



Ty73) werdh 2007 250 veai IR for. (SRR @) [30]
i)  TRETUT ISTEAT= a7 TIE .
i) @A THE HETCETE HUeAT STRRASATEAT AIERaH T8 & .
iil) heta wfHgeTeaT TRerur Aftdi=i AT 9 %™ |,
iv) drRETETE HTH ATfUr wEter v ?
v) 1947 utHga AR Agereat fasEren stretan 1.

gv74) e 500 vea IR . (o k) [20]
i) ToeEd o=t afbe s T waier s ?
i) YRAR gaTggaT! afvre wm a wier 9.

[4001]-129 (G - 1: B) -2-



Total No. of Questions : 4] [Total No. of Pages : 2
P169 [4001]-129
F.Y.B.A.
DEFENCE AND STRATEGIC STUDIES
D.S. - G-1 : (C) Military System of India.
(2008 Pattern) (Upto Revolt of 1857) (1274)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 50 words each. (any two) [10]
1)  Explain the British Strategy in battle of Plassey.
i1)  State Guru Govind singh's strategy of Sikh Militarism.
ii1) Explain the scope of Military History.

iv) Describe the strategy of Panipat I.

02) Write short notes in 100 words each. (any four) [20]
1)  Arms in vedic Period.
i1) Turkish Strategy in battle of Somnath.
ii1) Military reforms of Balban.
iv) Strategy of first Anglo-Sikh war.
v) 'Alexander'.

vi) Causes of decline of Sikh Militarism.

P.T.O.



03) Answer in 200 to 250 words each. (any three) [30]
1)  Explain meaning and the various sources of Military History.
i1) Describe the Maurian Military System.
ii1)) Explain in brief the causes of failures of the Revolt of 1857
iv) Explain in detail the battle of Jhulam.

v) Describe the decline of Rajput.

04) Answer in 500 words each. (any one) [20]

1)  Explain in detail the Shivaji's art of warfare.

i1) Describe the Military system of Maharaja Ranjit Singh.

[4001]-129 (G - 1: O) -2-
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Total No. of Questions : 4]
P169

[4001]-129
F.Y.B.A.

HR&TuT 3MfoT AR 9T

D.S. - G-1 : (C) MR eTShT STaTAT

(1857 =T I3TaTUA) (1274)
HRTIST ®UTAR (2008 de+)

IS ; 3 ]

gaqr :— 1) @d 997 QiSlavl Hravas SEd.
2) ITFIHSIT 3k GOl YT FIAATA.
3) @gulardt ges su<il wvaalAwT UgETal.

[Total No. of Pages : 2

[t ot : 80

w7 1)

77 2)

Tt T W Tkt 50 vegia forgt. (gt ai)
i) corTEte deTgdre e Jgifa TaE &

ii) e TSRO 6 Mifdg fermreh gt @,
iii) TRt SfagraTen ST TIE .

iv) urfuedean ufgean @erget ggHifa faug .

skt 100 vregia feur forar. (wiomadt wm)
i) aftw were .

i) wrEATeE TeTEde gttt g,
iii) SoeaeAT TSR AR,

iv) ufgedn susi-viE ggrier Tt

V) SRR,

vi) IRE TTeh{ehTuTT=aT Ja-Te STl

[10]

[20]

P.T.O.

11



gv73) el Tyl et 200 7 250 veaia I rEn. (worag ) [30]
i) R siagmamen stef snfur fafay wrem woe .
i) W TR gget afeem faue w0,
i) 1857 = I3TAT=AT AUAIITEN HRUT Al TIT .
iv) ST TIeTs AfaE Tg .
V) USgare gad e @

97 4) @it ggAEl I 500 vegia forgr. (vt TeR) [20]
i) forarsiet ggewmen afaem we w0,
i) e Wi e aeRdt ugdi=r auiT W,

[4001]-129 (G - 1: O)
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Total No. of Questions : 4]

P170 [4001] - 130
F.Y. B.A.

SOCIAL WORK (General)
| - Social Reform Movements in India

[Total No. of Pages : 2

Il - Introduction to Social Welfare and Social Services

(2008 Pattern)
Time : 3 Hours]
Instructions :

1) All questions are Compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer any two questions in 50 words each.

1) State the meaning of social work.
i) Explain Mahatma Phules’ work.
l11) Explain Swami Vivekanand’s work.

IV) Write a note on "Bhoodan Movement".

Q2) Answer any four questions in 100 words each.

[Max Marks : 80

[10]

[20]

i) Explain the contribution of mother Teresa for Indian people.

i) Explain the rights of weaker sections of the society.

1) Explain the thoughts and work done by Maharshi Dhondo Karve.

iv) Explain the concept and programmes of social welfare.

v) Highlight on the social reforms by Mahatma Gandhi.

vi) Explain Anna Hgjare’s work.

P.T.O.



Q3) Answer any three questionsin 200 - 250 words each. [30]

1) Take areview of Ramkrishna Mission, Prarthana sama] and Arya
Samgj.

i) Discuss the work done by Dr. Babasaheb Ambedkar for National
reconstruction.

i)  Discuss the work done by Mahatma Jotiba Phule and Savitribai Phule.

Iv) Write a detail note on "Gadage Maharg] Swachatta Abhiyan".

V) Write an essay on The planned provisions for social servicesin India
Q4) Answer any one question in 500 words. [20]

1) Write an essay on "Pre-independance reform movements in India’.

i)  Write a detailed note on "Services for handicapped people.”

363638
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Total No. of Questions : 4] [Total No. of Pages : 2
P170 [4001] - 130

F.Y. B.A.
SOCIAL WORK (General)
I - Social Reform Movements in India

Il - Introduction to Social Welfare and Social Services

(2008 TeA)
(T3t wUTaR)
Je . 3 amd| [ gpor 7707 - 80
geAT: - 1) & v @istav smavad e

2) SwalHSIer i qur gor FIffaara.
3) F= FUT FTUAET ATET RTET.

Fp71)  wRIUTETE G TeATEt 50 veETaa e feraT. [10]
i) Gt T g stef T w1,
i) wETen pora wrt v
i) T e Herd et v @,
iV) e weadier feuvft forar.

Fy72)  HiuTcETEr ww geAren 100 vearada e forar. [20]
i)  RATAA SARTETET Bt @ JrTe farere .
i) TS gae gk g favg .
i) wredt et wd e ferem i @i @ e w0
V) THTS HedTur I Hehou T AT shrdswn favre =,
V)  WETeHT MiEHT hetedt WHTNTe GETRuTT ITa SehRToT 2TehT.
Vi) STuuT gw R I e faee wa.

P.T.O.



97 3)

797 4)

[4001]-130

HuTeTEl i Tt 200 - 250 vreeTada Ieer forar. [30]

i) Troepur Them, SmefAT T onfut STl WHTS I heledT STl STTeTat
.

i) IvTaT qHETIUiETet ST, ATETERE HATASHTT chetodl shdiet we .
i) wETeaT e Be SATuT SiasiaTg Het A1 hetedT shiaie el ol
iv) ““Tren wERTe Tesar At arer feuvft ferer.

V) “‘orardte e aamETet steeeat Hereeg wgat | AR ey
forar.

AT Tkt Uy 500 yreeiuda Ier forer. [20]
i) “ORaTdie TaAEYd weTdiel GURUT gedadt | arer ey foret.
i) ““orum sHeiETSY et Aar ATeR Aiewa feuvft ferer.
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Total No. of Questions : 4] [Total No. of Pages : 2

P172 [4001]-134
F.Y.B.A.
COMMERCE

G-1 : Organisation of Commerce
(2008 - Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.
Q1) Answer the following questions in 50 words. (any two) [10]
1)  Meaning of 'Barter System'.
ii) Meaning of Water Transport.

ii1) What is 'Share Market'?

iv) What is storage?

02) Answer the following questions in 100 words. (any four) [20]
i)  Explain the features of Life-Insurance.
ii)  State the types of Buying.
ii1)) Explain the scope of Commerce.
iv) Explain the evolution of Money.

v) Explain the elements of packaging.

P.T.O.



03) Answer the following questions in 250 words . (any three) [30]
1)  Explain the functions of Advertising.
i1) Explain the Importance of Retailer.
ii1) Discuss- 'Evolution of Marketing'.
iv) Explain the Importance and types of Internal Trade.

v) Explain the Advantages of Air- Transport.

04) Answer the following questions in 500 words . (any one) [20]
1)  Comment on -'selecting Advertising as a Career'.
ii) Define- Branding, and Explain the benefits of Branding.

ii1) Define the term 'wholesale' and Explain its Importance.

[4001]-134 -2-



Total No. of Questions : 4] [Total No. of Pages : 2
P172 [4001]-134

F.Y.B.A.
COMMERCE

G-1 : IIforsT dgeA
(2008 ge+)
RIS BUTAR
e : 3 A [wegur o1 : 80
Jar :— 1) @d 97 @Slav Havas .

2) ITHIHSIT 3k QUf OT FIEATa.
3) @gulardt ges su<il wvaalAwT UgETal.

gy71) Ere@ geATEt 50 g SW frgr. (R ge) [10]

F972) @refte geAre 100 weaia IW forer. (iord =w) [20]
i) e e afyrer woe w0,
ii) wREE TR AR,
iii) arforeaT= SaTH TE .

iv) T9IT=i Iehidt TTE .
V) iYufel 9 T .

P.T.O.



777 3)

97 4)

[4001]-134

Tt Tgaret 250 vrsaia 3w fogr. (sroradt i)
1) el e Ty W,

i) Tre® U= TE WY W,

i) “FraumTent SR -t W

iv) 3idld SITUR g SATUT TehR TqE .

V) ‘gaTg-arggehial WTEE TUE .

@refte gyt 500 vegia W {oTgr. (RIvEaTEl Uh)
i) ‘A Uk wRehle Fgu fHaE - it .

[30]

[20]

i) ‘“UTSHh-SATAR T STREAT AT, SATVT UT3eh ATIRT Wt TIE .



Total No. of Questions : 4] [Total No. of Pages : 2

P173 [4001]-135
F.Y.B.A.
G-1 : EDUCATION
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Write the answers of the following questions in 50 words. (any two) [10]
i)  Explain the Social importance of Education.
ii)  Write the objectives of Preprimary Education.
iii) Explain the concept and importance of Adult Education.

iv) Write the limitations of Objective Observation Method.

02) Write the short notes in 100 words each. (any four) [20]
1)  Characteristics of Educational process.
i1)  Contribution of Tarabai Modak and Anutai Wagh in Primary Education.
11) Aims of Ancient Education.
iv) Thoughts of Karmaveer Bhaurao Patil on Dignity of Labour.
v) Importance of Environmental Education.

vi) Role and functions of Mass Communication Media in Education.

P.T.O.



03) Write the answers of the following questions in 200 - 250 words each. (any
three) [30]

1)  What is family? Explain the role and functions of family to Education.

i1) What is Education? Explain the Individual importance of Education in
detail.

ii1) Explain the Educational Philosophy and Functions of Maharshi Karve.
iv) What is Educational Psychology? Explain it’s Nature and Scope.

v)  What do you mean by Value Education? Explain the importance and
necessity of Value Education.

vi) Whatis Wastage in Primary Education? Write the causes and remedies to
overcome them.

Q4) Write the answers of the following question in 500 words each. (any one)
[20]

1)  Whatis Introspection Method? Explain it's Nature, Merits and Limitations.

i1)  Explain the Educational Philosophy and Functions of Mahatma Phule in
detail.

[4001]-135 -2-



Total No. of Questions : 4] [Total No. of Pages : 2

P173 [4001]-135
U g bt (F.Y. B.A.)

G-1 : forerore<=y

(T IIRITRAHH)
ARTST HATAR
(2008 de+)
9 : 3 aE] [wegur o1 : 80
Jar :— 1) @d 97 @Slav Havas .
2) ITFIHSIT 3k GOl YT FIAATA.
3) @ewlas? g s TvIaiFeT gETal.

gvT 1) wreler Sy T TR 50 veard foret. (SoaE @) [10]
) Treom s g e w5,
ii) ot et e sgf
iil) Tiereumel Hehear o ugeea favre @,
iv) e Fdae ugdean waier fom.

Ty72) uerd 100 veaia four ferer. (SowE =ww) [20]
i) foreror ufsha=ht afom.
i) nufHe LTI aRTETg Aigsd SATUT SIATS aTe aTd ARTE.
iii) e foreromeht S
iv) smufIEHeHd HHAR WINE U e,
v) uaterun fyrerome wEed.
vi) uHgEush Heawet gt 9w (frermdie).

P.T.O.



777 3)

777 4)

[4001]-135

T T s 200 7 250 e fowr. (Sonad 9) [30]
i) FEaETN U T ? Feauwo eruiavaes gftet o @t we w0
i) foreror o w ? Frenme Suteas Tewa afeer fave .

iii) wEH wd I NefUTeh aEAE 9 HE TE .

iv) Sterfites AHETE BUK HE ? e e 9 SATHl Y .

V) ToARIEIUl WU W ? HeATSTeIuTel HTaydshal 9 Hewd (avrg .
vi) wnufies fTerommdier et TEUR e ? Wesd el shIot |iqur su forer.

Weftel Teht TeAT=l 371 500 vregia forar. [20]
i) AR Ugdt WU && ? 91 Ugde TEy, 0T 9 HITET TIY .
ii) TETEHT Fot e NeIuTeh a9 hid Aiea’ v .



Total No. of Questions : 4] [Total No. of Pages : 2
P176 [4001] - 137

F.Y. B.A.
PHYSICAL EDUCATION
(THEORY) (2008 Pattern)

Time : 3 Hours] [Max Marks : 80
Instructions :

1) All questions are Compulsory.
2) Figures to the right indicate full marks.

3) Draw a neat diagrams wherever necessary.
Q1) Answer the following in 50 words. (Any two) : [10]

i) Explainin detail the throwing events of Athletics.
i)  Write down the basic skills required for Volly ball.
111) Write the importance of Yogain physical education.

IV) Describe the batting skill in Cricket.

Q2) Answer the following in 100 words. (Any four) : [20]

1) Give the meanings of the physical education and Explain how it is
useful in our life.

i) Give the importance of physical education in national integration.

1ii) Describe Paschimottanasan and Padmasan in brief.
iv) Describe mental health.

v) Describe the fouls in Kho-Kho.

vi) Draw adiagram of Hand ball ground with measurement.

P.T.O.



Q3) Answer in following in 200 - 250 words. (Any three) : [30]
1)  Draw shotput Circle and explain its fouls.
i) Giveaim’s, objective and scope of physical education.
i)  Why physical fitness is important through out the life explain.
iv) Define the first Aid and give why it is important.

Q4) Answer in 500 words. (Any one) : [20]

1)  Give the details and description of Kho - Kho game with figure.

i)  Describe Badminton court with measurement and explain skills, rules
and fouls ?

363838
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P176 [4001] - 137
F.Y. BA.
IR foraror
(THEORY) (2008 &)
(TSt TUTaR)
Je . 3 ard| [ogpor 7or: 80
geAT: - 1) &d gy @rstav sravas .

2) IwEIHSIT STk JUT FVIAATA.

Tg7l) w@refter agATEt 50 vead e forer. (R 21) ¢ [10]
i)  afercidierd WesTdlel UhehedT SITell TUY ol 7
i) cETchaiel TR JAs[ Shiveard qu & 7
iii) vmifter Hreromder e Teea TE w0 ?
iv) fehche WesTdier wegTsiI™l Shivied TUE ol 7

gy72) @refter agArt gt 100 vreeia Scak forer. (FivmE Tm): [20]
i) vINifeR TTeroTen sted URA TRl St ST [ Waed T8 U ?
i) " uwTeHade — iR e weea o w0 ?
i) UgeiHIcaTEa O USmas 91 e aigeTa airgdt fergr ?
V) WTHTHe® TR T80 1T ? oftead forat ?
V) @@l A Wi THTET 9l SR ?
Vi) Eediet TSI HISTHTITEE 3ATehd shial ?

gy73) e eAreh Terht 200 - 250 yeETd e . (g 99) [30]
i)  TMSThehd aqes HhIGH ATd I THTETS TUTT il ?
i) vifes Preromdte e=, 3fese @ ATt Tt & ?
i) STgTRETET Wi dg&wdra Weed | 7
V) TUHITER U S ? T Wged T8 & 7

P.T.O.



Ty74)  wErete gyAret gaR 500 yreia e forar. (SRivTaE ) ¢ [20]
i) T EeEt gut JifEd ST EE T¥ w7

ii) deHicT Ueat e TIHTITEE SAThd! Shigd Tdid shived, fam
T THTET! FUTH T 7

363638
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P178 [4001]-140
F.Y.B.A.
LOGIC AND PRINCIPLES OF REASONING

G-1 : Introduction to Logic and Principles of Reasoning
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain briefly any two of the following : [10]
i)  Constituents of an argument.
i1) Conversion.
111) Logical Operators/Connectives.

iv) Direct Deductive Proof.

(Q2) Write short notes on any four of the following : [20]
1)  Dilemma.
ii) Fallacy of Composition.
iii) Distribution of terms in ‘A’ and ‘I’ propositions.
iv) Truth and Validity.
v) Rules of Replacement. (any four)

vi) Immediate Inference.

03) Answer any three of the following : [30]
i)  Convert and obvert the following propositions:
a) All books are useful.
b) Some boys are clever.
¢) Some teachers are not Indians.
d) No mother is cruel.

e) Not all boys are clever.

P.T.O.



i)  Why the middle term must be distributed at least in one Premiss of a valid
Categorical syllogism? Explain with suitable examples.

iii) Determine whether the following statement -forms are tautologous,
contradictory or contingent, with the help of truth table method
(any four) :

a)
b)
c)
d)
e)

(~M>~N)=(Mv~N)
(pv@)>~(~p-~q)

(AVA)>(A-A)
(Mo>N)>(N>O)
D=~~~D

iv) Give direct deductive proof of any two of the following arguments:

a)

b)

c)

d)

A) ~(C-D>~(AvB)
B) ~C/..~A

A) AoB

B) Co~B/..A>~C
A) (LoM)-(NoM)

B) LvN/.. M

A) A-SB

B) BvC

C) (C~A)o(D-~A)
D) ~B/..D

v)  Symbolize the following propositions using the symbols given in bracket:

a)
b)

c)
d)

e)

[4001]-140

Though he studied well, he failed. (S, F)

It rained well this year and crops were also good but the prices were
high. (R, C.P)

He will go to Bombay or Pune. (B, P)

If the middle term is distributed then and then only the syllogism is
valid. (M, S).

It is true that the question-paper is not easy. (E)

-2



04) Answer any one of the following : [20]

1)
ii)

[4001]-140

Explain fully the nature and subject-matter of Logic.

Demonstrate the invalidity of any four of the following arguments:

a)  ~Av(~BoC) d ~Q>~P
~(D-E)o>~C ~~R>5~Q
~D ~R
~~Eo~A P

b) Eo~F e) M >(NvO)
(G-H)v(EVF) N> (P vQ)

Q>R
~G>o~-H ~-(RvP)
-G S~ M

c) ~(~L-~M) f) ~A>D
Nv~M ~D-R
~~N=0 o~ (A-SVT

EEE
-3



Total No. of Questions : 4] [Total No. of Pages : 3
P178 [4001]-140
F.Y.B.A.
LOGIC AND PRINCIPLES OF REASONING

G-1 : Introduction to Logic and Principles of Reasoning
RIS HUTCR
3% : 3 a9] [w=got 70T : 80
AT (— 1) @ Tv7 QISIA0 avasd Sgd.
2) IwimSter ek qul JoT FEfaara.
3) @gulardt ges su<il wvaalAwT Ul

F77 1) WIeferdeRl HIvAE 21 ST TE . [10]
i) gfeaTaTe wew
ii) uRadw
iii) TR wee
iv) v Tt frgan

F972)  wrelerR o e w@fw A . [20]
1)  I¥FTOs
i) TR /AT qeha Ty
i) A’ erfor T = fyemTdier Uit ST
iv) Heaar AT et
V) HAgeIdd fEm (HIEl 9 R)
vi) ereadfed g

P.T.O.



97 3) @sﬁaasﬁaﬁm?qﬁr@uw’ﬁw%ﬂ [30]

i)

ii)

iii)

1v)

[4001]-140

et fagmre ufteads 9 Sfaadad & -
a) e YEich S IATeA / IrEaTa

b) T GA TN AT

c) hTEt e wReE ATda

d) uwE wET | TEA

e) TE™ Hol FOR FHaTd

Freattaes afaamrar fem vt faamm o vew ug foafa /<o sme
g, @ T d AT ISTEUTEAT IR TIY .

Tl HITeh AU g eaT YR WAl [aaHay Jad: T, gad:
srEea foran Afufteraar aemEes emga @ SEr. (v 9R)

a) (~M>~N)=(Mv~N)
b) (pva)o>~(~p-~q)
o) (AvA)>o(A-A)
d (Mo>N)>(N>O)
e) D=~~~D
eATeTdehl RIUTeATE! 1 Fierarraret Sreaer Srafaeh frgar .
a) A) ~(C-D>~(AvB
B) ~C/..~A
b) A) A-SB
B) Co~B/..A>~C
c A (LoM)(No>M)
B) LvN/.M

d A A-B
B) BvC

C) (C~A)>(D-~A)
D) ~B/..D



v) whama oo g sua wea @reia faam fegifea s,

a)

b) =Tadl UTSE =TT SATAT AT forehdt TiTet giet oty fermet s grea.
R, C, P)
c) @ A WEe fohar guamen. (B, P)
d) WeIW Ug ATH W W F aw= wiay™ ay @d. (M, S).
e) B W 3R h ggulest @t ard. (E)
97 4) @vﬁﬂﬁsﬁaﬁm@mﬁwm. [20]
i) ThITETE TR 9 AITEIS AfaER T .
ii) TelTeTdeRl IVATE TR Fierdarare LT qREad ol
a)  ~Av(~BoC) d ~Q>-~P
~(D-E)o>~C ~~R>5~Q
~D ~R
~~Eo~A S P
b) Eo~F e) M>(NvO)
(G-H)v(EVF) N> (P vQ)
Q>R
~G>o~-H ~(RvP)
-G L~ M
¢)  ~(~L-~M) f) ~A>D
Nv~M ~D-R
~~N>0 o~ (A-SVT
EEE
[4001]-140 -3-
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Total No. of Questions : 4] [Total No. of Pages : 2

P179 [4001]-141
F.Y.B.A.
SOCIOLOGY
G-1 : Introduction to Sociology
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.
Q1) Explain any two of the following concepts in maximum 50 words each : [10]
i)  Subject matter of Sociology.
ii) Types of culture.
iii) Social Mobility.

1v) Modernization.

(Q2) Write short notes on any four of the following in maximum 100 words each : [20]
1)  Information Society.
i1) Meaning and definition of Social institution.
ii1)) Agencies of Socialization.
iv) Meaning of Social Stratification.
v)  Structural Pre-conditions of Social movement.

vi) Cultural factor of Social change.

P.T.O.



03) Answer any three of the following in maximum 250 words each: [30]
1)  Discuss the importance of Sociology.
i1)  Explain the characteristics of Society.
1i1) Describe the informal means of social control.
iv) Explain the characteristics of caste.

v) Define Globalization, Discuss the characteristics of globalization.

04) Answer any one of the following in maximum 500 words each : [20]
1)  Define social group. Explain the types of social group.

i1) Define social movement. Examine the emergence and phases of Dalit
and womens movement.

[4001]-141 -2-
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P179 [4001]-141
F.Y.B.A.
SOCIOLOGY
G-1 : Introduction to Sociology

(2008 Yc+)
HRTST IR
e : 3 A [wegor 7ot : 80
AT — 1) @ Tv7 qISIAvl avas Sgd.
2) ITHIHESIA I TIAIR QU JUT FIAATa.
3) @gwlarst ges su<il wvaalAwT UgETal.

gy7 1) WMTWWQWWW [10]
i) AU AT,
i) wERd™ TR
iil) wTETRTe Tl e
iv) smeyfreheTor.

T772) ool ST SRR ek 100 wwestda feur ferer. [20]
i) wifEde gu.
i) wmTRTeR EwATET stef snfur ST,
ii) oA wie.
iv) @mHTRTeR TadieRuT= 219,
V) OWINTG Seasiedl ST gd o1el.
vi) WIS URadaTe ATk e g2,

P.T.O.



777 3)

777 4)

[4001]-141

WTATeTdeh! SIOTATEN W Serell ekt 250 vraqiaeia s o, [30]
1) EHTAITETET UgeaTt =l .

i) wwTITET Sfvre™ Ui &

iii) wTaTRTeR FEsUe SHtETieR |TeAT ==t .

iv) Srdrean Sfyresa suia .

V) SIATiaehleRu=i e forgn, a afvrssr=i ==t .

WM@W@WWW [20]
i) wTETRTeR gl et fogt 9 e auge YRR TIE .

ii) oIS T@awEt ArEat fofgl @ Al AT gfeta awadieal sgar
ot Zoare uieruT .



Total No. of Questions : 4] [Total No. of Pages : 2
P180 [4001] - 142

F.Y. B.A.
ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
G-1: Outline of Prehistory, Protohistory and Early History

(2008 Pattern)
Time : 3 Hours] [Max Marks : 80

Instructions :

1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Answer the following questions in 50 words each. (any two) [10]
1)  State the difference between the 'Prehistory' and 'History'.
i) Define Heritage.
iii) Write the extent of Persian empire.

iv) State the importance of Kalinga War.

Q2) Write short notes in 100 words each. (any four) [20]

1)  Epigraphy, as a source of Ancient Indian History.
i)  The important definitions of History.

lii) Salient features of the town - planning of Harappan Civilization.
Iv) Jorwe culture.
v) Philosophy of Bhagwan Mahavira.

vi) Achievements of Chandragupta Il.

P.T.O.



Q3) Answer the following questions in 250 words each. (any three) [30]

1)  State the salient features of the Paleolithic Age.
i) Takeareview of the early Vedic Literature.

i)  Write the main effects of the Persian contact with India.
Iv) Write the achievements of Kushana King Kanishka.

v) What do you know about the Rashtrakutas ?

Q4) Answer the following question in 500 words. (any one) [20]

1)  Describe the salient features of Neolithic Age.

i)  Write an essay on the 'History of Wakatakas'.

363838
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P180 [4001] - 142

F.Y. B.A.

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
G-1: Outline of Prehistory, Protohistory and Early History

(2008 )
(TSt TUTaR)
Je : 3 ard] [ Tggor 7707 : 80
gaAr: - 1) &@d gv7 qiSlav SavaE 8.

2) SwalESier s qur T FIffaara.
3) @ewlard?! gw sut FvAuAHT UETEl.

go7l) et STt Tkt 50 vreaid e foret. (FIUE 3) ¢ [10]
i) Curfrfagm sifur “gfagte’ amweier weR |,
i) ‘amar Tt srEEt w1,
iii) ufdte wmaTeETER ST .
iV) ehienTeaT geume Wew 9.

gw72) et 100 vesta At e, (Sioard = w) ¢ [20]
i) Ui aredE sfoerem e gaiieree.
i) gfgTaTsa weaTsan s,
i) Tev dehdeT e gww AR
iv) WS dEpdt.
V) W HETER I decasi .

Vi) TEE gERT, ATt RERRL.

P.T.O.



97 3)

797 4)

[4001]-142

WTeAter Tereit Tedeht 250 vreaia Il forer. (wivrast €9) ¢
1) qOreH gl g@e ATTE |,

i) & IR aTSHATEN AR g4,

iii)  sTRaTeReREan afstarreat duwte yq@ uftomm forer.
iV)  HETUT T hfAveR aTet s fore.

V)  UgegpeifawH greTd & wifgd omg ?

@t gy 3eak 500 yreeTa foret. (SRiveaTet ) ¢
i) FATYHGTET Sbeh ATITTA U el

i) “reRTeshTEn 3fae™ AR fHEe ferat.

363638
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Total No. of Questions : 4] [Total No. of Pages : 2
P182 [4001]-146
F.Y.B.A.
PHILOSOPHY
G-1 : Introduction to Philosophy
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Answer any two of the following questions in 50 words each. [10]
i)  Explain the concepts of preyas and shreyas.
ii) Describe the method of dialogue.
iiil) What is the distinction between business and profession?

iv) Explain Charvaka's concept of soul.

02) Write short notes on any four of the following in 100 words each. [20]
1)  Aristotle's fourfold scheme of causation.
ii) Deterrent theory of punishment.
1i1) Distinction between intrinsic and extrinsic value.
iv) Concept of Runa and its classification.
v) Aesthetics as a branch of philosophy.

vi) Materialism of Democritus.

P.T.O.



03) Answer any three of the following questions in 200 - 250 words each. [30]
1)  What according to Russell is the value of philosophy?
i1)  Bring out the distinction between positive and negative freedom.
ii1) Explain Descartes's method of doubt.
1v) Discuss the doctrine of Purushartha.

v) Explain the four Noble Truths according to Buddhism.

04) Answer any one of the following question in 500 words. [20]
1)  Discuss the law of karma in detail.

i1)  State and explain Hume's views on causation.

[4001]-146 -2-
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P182 [4001]-146
U ¥ &elT (F.Y.B.A.)
PHILOSOPHY
(Ta=1T)
G-1 : Introduction to Philosophy
RIS B/UTAR (2008 G&+)
e : 3 A [wegor 7ot : 80
AT — 1) @ T97 QISIAv HavaE ITg.
2) ITFIHSIT 3k GOl YT FIAATA.
3) @gularst ges su<it wvaalAwT UgETal.

g7 1) el G wivTETd g TeAEl I e 50 vrsgia forer. [10]
i) U\ 3nfur S| AT HeheuAT T .
i) WaTE Ugdia TuiA .
iii) QT ATV STTETT ATd HTT Tleh AT ?

iv) STatehre SATCHT & HeheUdT TIY .

g7 2) Wi Uehl RIVTTE TRier It 100 vrsera ot forer. [20]
i) cifceieerh wRUmESE T,
i) Preeh afey oo,
iii) ¥t erfor afgria geamefe e,
iv) SRUT WeheuqT 31TfuT fa=t afientur.
V) ORI ST U S H .
vi) SHIfshed WEaTE.

P.T.O.



777 3)

777 4)

[4001]-146

AT Tehl SHIUTATE! 9 Tgarei 3w Teaeht 200 - 250 sreaia fozr.

i) AcTed WATIER TEAE od w1 AR 7

i) WHNICHeR 3MTUT THNTcHeR FETAATATA Wleh favTg o,
i) ceRTdl T Uget T .

iv) geured fagmaret w=i .

V) SigeviATdiel UR SREe ¥ .

WTeATer Tehl Tt Teht TvaT= 3¢ 500 vregia forgr.
i) ufrgraret afeer Tt .
ii) TS HRUME foamR arm eafor Tus .

[30]

[20]



Total No. of Questions : 4] [Total No. of Pages : 2
P184 [4001] - 148

F.Y. B.A.
FOUNDATION COURSE (Restructuring)

(2008 Pattern)
Time : 3 Hours] [Max Marks : 80

Instructions :

1) All questions are Compulsory.
2)  Figures to the right indicate full marks.

Q1) Explain the following concepts in 50 words each. (any two) [10]
1)  Religion.
i)  Self-Employment.
l11) Nation.
IV) Privatization.

Q2) Write the following short notes in 100 words each. (any_four) : [20]
1)  Science.
i) Food Problem.
lii)  Superstitions.
Iv) Rule of Law.
v) Global Warming.
vi) Equality.

Q3) Write the answers of the following questions in 200 to 250 words each.
(any three) : [30]
1) Write the characteristics of Indian culture.
1) State the causes of growing population in India
1)  Write the Demerits of cast system in India.
Iv) State the types of Democracy.

v)  Write the effects of science and technology on Education and
Employment.

P.T.O.



Q4) Write the answer any one of the following question in 500 words.  [20]

1) State the Importance of Indian Agriculture in Indian Economy and
write the causes of low productivity of Indian Agriculture.

i)  What is society, and explain the characteristics of Indian society.

363638
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P184 [4001] - 148

o Y heAT (F.Y. B.A)
qrETHA AR (AT T-ATHRA)

(2008 )
(TSt TUTaR)
Je : 3 ard] [wggor 7or: 80
gaAr: - 1) @d gv7 qistant smavae Ted.

2) SwaiESier s qur T FIffaara.
3) @eylarst g suw FvAaAET U,

gg71l) Y Heheddt 50 IeETd T . (Fed S [10]
i) ed.
i) e e
i) .
V) WTeIieRtoT,

¥p72)  gere feur weaeht 100 vreaTa forer. (we =w) [20]
i) fomm.
i) Sr=Eauer.
i) efarsrar.
iv) wrEEuTe st
V) STTfdeR aIqHT 9Te.

Vi) ¥Hdr.

P.T.O.



97 3)

797 4)

[4001]-148

et gt See? 200 @ 250 veaT forer. (Wer d4) [30]
i) o T AR o,

i) RATder AT TR EEAT T HRUT T,

i) sATer SrerTe 2 fore.

V) oIeRyTTEr TSR |,

v) famm snfor dammme freron snfor demmrreter aftormm forat.

geteraehl TeRt U3 Ieek 500 vreaTa ferat. [20]

1) WRA srefeaerEddict Sidtel Waed Ui WA Jidieat 3Ted Icaraehdat
R ToraT.

i) U U w1 ? 9 IR gt aftre fawe .

36363



Total No. of Questions : 4] [Total No. of Pages : 2
P185 [4001]-149
F.Y.B.A.
NATIONAL SERVICE SCHEME
G-1 : Social Service and Youth
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.

2) Figures to the right side indicate full marks.

Q1) Answer to the following questions in 50 words each. (any two) [10]
1)  State the concept of over Population.
i1)  Explain the concept of Social Problem.
1) State the collection of Information.

iv) State the Role of Social Organisations to Modernization.

02) Write short notes in 100 words each. (any four) [20]
1)  Social Works.
i1) Programme officer.
1) Illiteracy.
1v) Regular activities.
v) Village adoption Programme.

vi) Group leader.

P.T.O.



03) Answer to the following questions in 200 - 250 words each. (any two) [30]
1)  State the inter-relationship between Education and Social Service.
i1) Explain the Colleges campus activities of N.S.S.
ii1)) Explain the "Social institution to solving the Social Problems".

iv) Explain the Methods of collecting Information.

04) Answer to the following questions in 500 words each. (any one) [20]
1)  Explain the History and Philosophy of Social Works in India.

i1) What is Meant by Design of Survey? Analysis of collecting data. And
Preparation of survey report. Discuss. its.

[4001]-149 -2-
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P185 [4001]-149

F.Y.B.A.

TR [T TTST=T
G-1 : GHFTST 4T 3T TH/0T
(2008 ge=)
HRIST U
9 : 3 aE] [wegur o1 : 80
Jar :— 1) @d 97 @Slav Havas .

2) ITHIHSIT 3k QUi OT FIEATa.
3) @gularst ges su<it wyaalAwT UgETal.

gy7 1) wielter Ty Serdh 50 veaia S o, (o @) [10]
i) orfaitea AiREEIl Tehod-T M.
i) wTaTRTeR AHEEt WeheuT favre .
iii) wrfgd= Hehetd TIY HA.

iv) smyfhIRTuTTeer TTHTNS WoeTe! qiHeht WieT.

gg72) wcasht 100 sreqia fear forgn. (wivmdt =m) [20]
i) \mETRTe %,
i) TR SRR,
iii) fRewa.
iv) frafim swiwa.
V) ok T .
vi) TE uqd.

P.T.O.



777 3)

777 4)

[4001]-149

@refte agaret geeht 200-250 vregia S fosgr. (whivad 29)
i) Toreror anfor Tae@ET aTdier TEEey Y .
i) W A, AT ARG URERTTS shewn e .

i) ““wmaTcres TnETeaT AR AT SR’ TIE .

iv) Wi HehemTean ugdt fave =,

Tt Tyt Teeht 500 yegia 3w foTer. (HiuETEt uew)
i) YRATdA AMTSTeR Siare 3fag™ 9 awnH e &,

[30]

[20]

i) UTHRIUT ANTEST U kA ? Hehfeld AT fagawor sfor wderor

JTFATATE YUt TIT AT ==t .
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P187

[4001] - 153
U a9 ATEA (F.Y. BA)

Tk B8l @ (TThIEe)

(Functional Hindi : Vocational)

1924 : U9 : 1 (99T ATSAHHA) (2008 Te)
(B st : fafdyr wa, verwmar @8 aen saesoD)

gag 3 g2 [ ger a1 - 80
gaae: - 1) gyt efaad g
2) Rl SR for@ Y STk 9T @ qUTies B
3) fawrr o’ o fawmr ‘@ @ 3eAv Uk &7 I Gk A 1o71v |
fawmr ‘e’
go7l) @) frafafaa s wedt @ | el uter o foru f&h s wwet unfeanfyes
reg Tt : - [5]
1) Director 2) Table. 3) Assistant.
4)  Minimum. 5) Secret. 6) Charges.

97 2)

7) Class - room.
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fam - ‘9

gord)  Frefola § @ fr € % 3R Rk - [15]

Tg75)  4)

o)

JreAgs feram Wit # wfer wraT @ ?

gefeal & gehri & am forfam |

‘HUEX T HTELT ATIH & — HIGTE0T THT |
&t ® wres T+t Y erTavaeRar ot g ?

TgHa VR EA R A - A ?

foreferRam v 1 TR § argaTs YR o [7]

AT TIITETETEET WIS igwent. ot 9% ad Jruaisan S
JTRA Tl T, o TETUATH IegehdT A 9. ANTEAT G UTATR FUfehd o
HICET ATIA W AT Thd WIS ITAT UTATR ST 3G AR TS
ATIUT ST UTERTeR UHTEA BieT ArEnatiun ferufees amR wrea aimed.

3TU I o TR o A et iy rewraa’ fowg @« o forfam 18]

qv76)  Frafaiaa # @ fad dim w fevaforat forfan ; [18]
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)
)
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Total No. of Questions : 5] [Total No. of Pages : 3
P145 [4001]-103

F.Y.B.A.
FRENCH (ADVANCED)

(New Course) (2010 Onwards)
Time : 3 Hours] [Total Marks : 80

Q1)Traduisez en anglais. (10)

Pour les vacances d'été ou d'hiver, pour les longs week-ends, les Frangais prennent leurs
voitures, se précipitent 4 la gare ou dans les aéroports pour quitler les villes, Paris en
particulicr. A la radio, on donne des conseils aux automobilistes sur I'heure la plus favorable
aux départs, si I'on veut éviter les embouteillages sur les routes.

La destination la plus naturelle d'hiver est {a montagne : a No€l ou pendant les vacances de
février, une semaine de ski dans les montagnes blanches de neige est le réve de beaucoup de
Frangais. En juillet, et surtout en aolt, plus de 35 millions de Frangais partent en vacances
{40% ne partent pas). 1.'été, on va plutdt chercher le soleil et la mer sur les cotes dela
Meéditerranée ou de |'Atlantique.

Q2)Compréhension. (10)

La France a la réputation d’étre un paradis pour les travailleurs qui, apparemment, y
travaillent moins que dans d”autres pays. Les Frangais ont aussi la réputation de ne pas aimer
le travail, de ne penser qu’aux vacances etc. Ces jugements sont séveres et probablement
injustes, il est préférable de dire que la plupart des Francais sont fortement attachés & leur vie
en dehors du quotidien professionnel et qu’en France la législation du temps de travail est
trés réglementée - 35 heures de travail par semaine, 5 semaines de congés payés par an, 11
jours fériés, congés de maternité pour les femmes (16 semaines, dont 6 avant
I"'accouchement), congés de paternité pour les hommes (2 semaines).

Questions :

a)Quelle est la réputation des Frangais vis-a-vis le travail ?

b) Pourquoi considere-t-on que la France est un paradis pour les travailicurs ?

Dites ‘vrai' on ‘faux’

¢) Les brangais pensent tout le temps a prendre des vacances.

d) La durée des congés de paternité est plus longue que les conges de maternité,

&) Les Frangais sont plus attachés a leur travail qu’a leur vie personnelie.

Q3) A)Répondez aux guestions (3 au choix). (12)

a) Que représente la formule “3 A™ pour les Frangais ?

b} Quelles sont les raisons pour le changement dans les habitudes des Francais en
matiére de Joisirs ?

¢) Pourquoi mange-t-on traditionnellement des crépes avec une piéce de monnaie dans
la main ?

d) Décrivez une féte frangaise.

e) Quelles sont les différentes activités qu’on peut faire dans un café typique en France 7
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f) La scéne de famille décrite par Victor Hugo dans le poéme, ‘Elle avait pris ce phi’,
décrivez cette scéne.

B) Choisissez LN des sujets ci-dessous. (10)
a) Faites un portrait de Mondo : son apparence, sa fagcon de saluer les passants.
b} Dans le poéme « la Cigale et la Fourmi », le poete La Fontaine nous apprend qu’il
faut penser 4 I'avenir. Commentez.
¢} Paul ne se sent pas bien. Il va chez le médecin. Le médecin lur pose des questions sur
la santé. Ecrivez {e dialogue. (0 a 8 répliques.)

Q4A) Que dit-on dans les situations suivantes ? (8)
)Un touriste qui veut visiter la région.
i1)Le medecin veut examiner le malade.
1Un touriste ameéricain qui veut changer de 1'argent dans une banque a Paris.
iv)Vous n’étes pas en bonne santé. o o o

B)Dites *Vrai’ ou ‘Faux’ {3
1)Les jeunes frangais de moins de 25 ans n’aiment pas voyager a I’ étranger.
ii)Les Frangais oni 5 semaines de vacances par an,
iii}La France est la premi¢re destination touristique du monde.
iv)Le 19 mai ¢st une féte religicuse.
v)La Fournu représente une personne qui travaille beaucoup.
vi)Mondo était un enfant plaisant et souriant malgreé sa solitude et sa pauvreté.

Bpue
Q35)A. Récrivez les phrases en commengant avec *[l raul;ou ‘Je veux c‘,ub
et fuites les changements nécessaires. (3
1) Fais vite ton travail !
11)Vous devriez prendre des vacances.
ii1)Hls dotvent partir de bonne heure pour éviter les embouteillages.

B) Mettez les verbes au tenps du passé qui conviennent, (3)

La scmaine derniére, ma sceur et mol, nous (partir) en voyage au sud de I’lnde. Nous
(réserver) des places a avance, mais quand nous (s’installer) dans le compartiment, le
contrdleur nous (dire) que les places (étre réservé) au nom d’autres personnes, [{eureusement,
ces gens-la ne (venir) pas !

C) Mettez au passil. 3
1) Le Pere Nogl apporte les cadeaux.
i1} Lang, I'ancien ministre de la culturc a instauré la féte

[4001]-103(New) _2-



de la musique en 1982
ii1) Les enfants avaient déja préparé le repas quand leur mere
est rentrée.

D) Complétez les phrases en utilisant le conditionnel. - (3)
1) Sinous avions du temps, nous (faire) la tour du monde.
1) Mes amis disaient qu’ils (aller) & la piscine aprés les cours.
iit) S1 tu venais avec moi, nous (visiter} le musée dans 1’aprés-midi.

E) Complétez le dialogue avee des formules de négation. ( rien,
plus, jamais, nulle part, ete.) (3]
A Tu pars pour les vacances ?
B : Non, cette année je ne vais
A ¢ Alors, tu suis les cours de yoga ?

B. Non, j’ai mal au dos, je ne fais de yoga.
A : Tu es allé voir un médecin ?
B : Je ne vais chez le médecin. I”ai horreur des hdpitaux.
F) Dennez le contraire : (3)

L.a haine ; ordinaire ; début.

G) Complétez les phrases en utilisant le futur/futur antérieure. (3)
i) Quand tu auras fini ton travail, nous (aller) au restaurant.

i1} Dés que vous (arriver) a Paris, vous devrez contacter le directeur.

iii) Aussit6t qu’il aura regu la lettre, il vous (répondre).

H) Remplacez les mots soulignés par des pronoms, : {3)
1) Nous voyagerons avec nos amies francaises.

1) Qu’est-ce que tu as dit 2 ta mere ?

11i) Aimes-tu lgs glaces ?

I} Rempliacez les mots soulignés par des adverbes. : (3)

1) 1 conduit avec prudence.
i} Elle explique avec patience.
ii1) Elle s’habille avec élégance.

® kR
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Total No. of Questions : 3] [Total No. of Pages : 3

P145 [4001]-103
F.Y.B.A.
FRENCH (ADVANCED)
(Old Course)

Time : 3 Hours] [Total Marks : 80

Question 1)
A) Traduisez en anglais [10]

'y a un an, le tremblement de terre faisait de la destruction a

Haiti. Anthany, 10 ans, et Leila, 8 ans, racontent 'événement

pour notre journal. Aprés avoir passé huit mois en France, ils sont
retaurnés vivre a Port-au-Prince. |ls expliguent le catastrophe

d’'une manieére vivide.

Anthony était au bureau de son papa, Leila était a la maison avec sa
maman lorsque |la terre a tremblé le mardi 12 janvier 2010 & Haiti. "On
croyait que c'éfait un gros camion qui passait”, ont-ils déclaré.”Partout ,
on voyait |a destruction; on entendait des cris des femmes, et memes

des enfants. C'était une trés grande perte!

Question 2) A) Répondez aux questions suivantes. (3 au choix)
[15]

1} Pourguoi pensez-vous que Mme Jeanne est surnommé

« la dragon ».

2} Comment a-t-on fété Fanniversaire de M, Boqguillon ?

3) Quels services Thérase rendait-elle a Jean-Louis Parasi ?

4) Comment ¥'accident est-il arrivé sur la ligne de SNCF dans le Rapide
de Nice 7

5) Décrivez la vie de Mistigris & Ménilmontant ?

B} Choisissez UN des sujets ci-dessous [10]
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1) Mme Lavigne écrit une lettre 4 Mme Bergeret.
Elie décrit la fin de P'histoire de Putois. Ecrivez la lettre.

ou

Vaus étes témoin (witness) au rencontre entre le poéte
at I'aveugle. Vous écrivez une lettre a votre ami en décrivant

ce qui s'est passé prés du vieux pont.

C) Dites autrement 4

a) pensich

b) étre au régime.

¢} siffler comme un oiseau
d) le bachot

D) Dégagez le sentiment exprime [4)

a) « Un peu de poisson, mon oncle ? C'est leger, cela ne peut
pas vous faire mal »
b} « Comme c'est long, ce voyage »
¢) “J'aime bien sa maniére de lever ses yeux jaunes pour dire merci»
d) « L.’état devrait nourrir ces gens-la»

E) Dites vrai ou faux {4]
1 Mme Landry n'dimait pas les chats.
2) Le lycée Lavoisier avait une grande réputation.
3) Alain est venu & Azy-sur mer chez son oncle.
4) Mme Bergeret manquait un peu de fermeté.

Question 3)
A) a)Trouvez les adverbes ; réegulier, bon. 8]
b) Trouvez les noms : chaud, faible.
¢) Formez les adjectifs : mai, maladie.
d} Trouvez les verbes : la parole, boisson.

B) Remplacez par les pronoms convenables [4]

a)Elles veulent faire les courses.
b)  va au thédtre avec son oncle et sa tante.

¢} Elle a acheté une jupe noire.
d) Nous venons de Mumbai.

C) Mettez les verbes selon les indications données 8}

a) Il descend & 8 heures. (Trouvez la question).
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b) Elles (se habiller- Passé Composeé) vite.

¢) On (arranger.- Imparfait) ies chaises pour 12 soirée.

d) (Aller)-y | N'ayez pas peur !

) Si vous n'étudiez pas, vous (échouer- conditionnel) dans 'examen
f) Avec les lunettes, vous voyez ____(meilleur / mieux)

g) Tu n'as pas cours demain, ne (se lever) pas tét!

h) Elle voit le fiim en ____ {lire)} le roman. (Pariicipe présent.)

D) Mettez au subjonctif [4]

1} Je veux que tu (aller) & la salle de gym.

2) Hl est nécessaire que fes étudiantes (avoir) un peu de temps libre.
3) Je désire que tu (mettre) tes valises dans |a voiture.

4) Je suis désolé qu'elle ne (pouvoir) pas venir avec nous.
E) Mettez au passif [4)
a)} On va construire cette maison.

b} Les touristes visitent la France.

¢) Elle rangeait les fleurs.

d) les étudiants enverront les courriels.

F) Faites selon les indications [5]

1) Parlez-leur ! (Négatif)
2) est votre nom, s'il vous plait? (Adjectif interrogatif)

3) Donnez le contraire : agréable

4) Mon ami va arriver chez mai. (Pluriel)

5) Voila Vécrivain ___ le roman est devenu célébre.
{Pronom relatif)

® kR
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Total No. of Questions : 5] [Total No. of Pages : 4
P146 [4001]-104

F.Y.B.A.
GERMAN (Basic)
(2008 Pattern)

Time : 3 Hours] [Total Marks : 80

Frage 1. Ubersetzen Sie die folgenden Texte ins Englische oder Marathi!
A) (5)

Tipps fir Mutter mit klcinen Kindern.,

7.00 - Morgens ist der Stress am grijpten. Der Mann muss zur Arbeit, dic Kinder in die Schule.
Jeder will ins Bad und zur Toilette.

Tipp: Beginnen Sie den Tag eine halbe Stunde frither , auch wenn jede Minute im Bett {iir Sie
wichtig ist, Ein ruhiger Start ist ein Gewinn filr den ganzen Tag,

8.30 - Der Mann und die grifieren Kinder sind weg. Also Zeit [iir die Hausarbeit. Aber das kleine
Kind will mit Mama mitspielen.

Tipp: Kleine Kinder helfen gerne bei der Arbeit, Wena sic auch ctwas mitmachen, macht nichts,

B) (05)
Wir wohnen in Frankfurt, in Bockenheim, Unsere Wohnung ist nicht schlecht. Sie hat vier Zimmecr,
eine Kilche, cin Bad und eine Gstetoilette. Sie liegt sehr giinstig, 1.eider ist die Wohnung schr laut
und si¢ hat keinen Balkon. Wir bezahlen 865 Euro kalt. Ein Haus mit Garten ist unser Traum. Es
gibt aber leider nur wenige Hiiuser und die sind teuer.

C) Ubersetzen Sie ins Deutsche! ( nur 4) (08)

1) In two weeks [shan will have his own flat.
2) Manali is in the hospital,

3y My washing maching is out of order.

4) Do you help your mother?

5) She has to ring up her father.

6) This cheese is tasty.

Frage 2. Beantworten Sie dic folgenden Fragen ! (nur 8) (08)

1} Was haben Thre Eltern Thnen zum Geburtstag geschenkt?

2} Was kann man mit einem Handy machen ?

3) Welches Fernsehprogramm sehen Sie gern? Wann ist es?

4) Ihr Freund macht eine Reise nach limalaya. Was sofl er mitnechmen?
S} "Was kann man anf einer Bank machen?

6) Nennen Sie zwei Nachbarlinder von der Bundesrepublik Deutschland!
7) Was machen Sie in Threr Freizeit?

8) Welche Sprachen spricht man in der Schweiz?

9) Nennen Sie zwei Wahrzeichen Deutschlands.

10) Wohin méchten Sie gern in den Ferien fahren?
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Frage 3. Grammatik
A) Ergiinzen Sie das richtige Verb! {nur 4)

(beantworten, geben, fahren, anrufen, diirfen, aufmachen)

1) Er alle Fragen richtig,

2. Bitte Sie die Tuar !

3. Mein Bruder  immer schr schnell.

4. Kinder, ihr noch nicht alleine ins Kino gehen.
3. Mohan, mir bitte dein I left!

B} Ergiinzen Sie die Personalpronomen! {nur 4)

1) Mein Computer ist kaputt. funktioniert nicht.
2)Morgen habt _ Priifung. Ich wiinsche

3) Mein Freund kommt aus Deutschland. [ch treffe

4) Klara, kommst ins Kino mit?

5) Die Tasche ist sehr gut. Ich méchte kaufen.

€) Ergiéinzen Sie diz Possessivpronomen! (aur 4)

1} Alex kommt nicht zum Unterricht. Kopf tut weh.

2) Heute Abend trefte ich Freunde.

3) Mona schenkt Bruder ¢in Buch,

4) Wann beginnt Prufung, Paul?

5} Eva kann nicht fotografieren. Kamera funktioniert nicht.

D) Ergiinzen Sie dic Modalverben! (nur 4)

1) Meine GroBmutter ist krank, Ich sie besuchen.
2) Was du alles mit 100 € machen?
3} 1hr habt morgen Priifung. fhr __studieren,

4} Kelvin ist krank. Der Arzt sagt, er zu Hause bleiben,
5} Die Studenten . ___ im Unterricht nicht miteinander sprechen.

E} Bilden Sie Perfekt! (nur 4)

(spiclen, einladen, fahren, warten, schreiben, helfen, besuchen)

1) Ich meinen GroBeltern einen Briel

JAlles gute®,

2} Der Tourist der alten Dame

3) Dig Kinder den ganzen Sonntag
4) Wir am Wochencnde nach Lonavala
53 Ich auch meine [.ehrerin zur Party

F) Ergiinzen Sie die Pripositionen! (nur 4)

(nach, mit, durch, auf, am, an, )

1) Die Blicher liegen dem Schreibtisch,

2. Das Familicnfoto hiingt der Wand.

3. Wir fliegen Australien,

4. Ich suche ein Zimmer einem grolien Balkon.
[4001]-104(Basic) -2 -

(40)

(04)

(04)

(04)

(04)

(04)

(04)



5) Wir besuchen euch Sonntag,
G) Ergéinzen Sie! (nur 4) (04)

[und, aber, ader, sondern, denn]

1) Er hat einen Apfelkuchen _ cinen Kaffee bestellt.

1) Méchtest du mitkommen bleibst du lieber zu [1ause?

3) Er arbeitet sehr fleibig verdient nur wenig,

4) Er kommt nicht zur Schule, er ist krank.

5) Sie will ins Kino gehen sie hat kein Geld.

H) Bilden Sie Siitze! (nur 4) (04)

1) Sie, bitte, zumachen, die Tir!

2} Maya, haben, gegeben, eine Kamera, ihrem Vater.
3} milssen, Frau Bauer, frith, jeden Tag, aufsichen,
4} den Kuli, geben, du, mir, bitte!

5) sein, schr spit, ihr, gekommen.

I) Bilden Sie Fragen! (nur 4) (04)

1} Er heifst Suneet.

2} Der Unterricht begann um 10 Uhr.

3) Ich fahre mit dem Bus zur Uni.

4) Sie trigt eine biaue Bluse.

5) Nein, unser Deutschbuch heidt nicht ,Moment Mal’,

J) Was passt? {nur 4) (04)

[) Tee : Tasse — Saft ;

2) Zeitung : lesen — Radio :
3) Deutschland : Berlin — Osterreich :
4) Reis : kochen — Kuchen :

5) wir ; unser — ihr :

Frage 4. Lesen Sie den folgenden Text und beantworten Sie die Fragen! (08)

Viele Schiiler und Schiilerinnen in Deutschland arbeiten nach der Schule und verdienen Geld. Das
ist ihr Taschengeld.

Gunilla, 15 Jahre, sagt,” ich arbeite abends und am Wochenende als Babysitter. [ch mache das seit
drei Jahren. Die Arbeit gefillt mir, Ich bekomme 10 Euro pro Stunde. Die Kinder gehen ins Bett,
Dann sitze ich im Wohnzimmer und mache meine Hausaufgaben. ,, Gunilla hat keincn Vater.
Deshalb muss sie arbeiten und threr Familie helfen. Am Wochenende ist sie manchmal [rei, dann
geht sie ins Kino oder sieht fern.

A) Beantworten Sie die Fragen! (04)
1. Wann und warum arbciten viele Schiiler in Deutschland?

2. Was macht Gunilla am Wochenende?

B) Richtig oder falsch! (02)
[. Gunilla kitmmert sich um die Kinder.

2. Sie macht diese Arbeit nicht gern,
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C) Suchen Sie das richtige Wort aus dem Text! (12)

| heisst Samstag und Sonntag,

2. Man macht die _ zu Hause nach der Schule.

Frage 5. Schreiben Sie einen Aufsatz iiber gins der folgenden Themen (06)
I} Meine Stadt

2) Mein Altag

3) Das Wochenende

* i ok
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Total No. of Questions : 5] [Total No. of Pages : 4
P146 [4001]-104

F.Y.B.A.
GERMAN (Advanced)
(2008 Pattern)

Time : 3 Hours] [Total Marks : 80
Frage 1. Ubersetzen Sic die folgenden Texte! (20)
A) (06)

Mit 10,1 Millionen Quadratkilometera ist Europa der zweitkleinste Frdieil. Die
Einwohnerzahl der Europiischen Union vor dem Beitritt 2004 von 10 neuen Lindern war
375 Millionen. Durch die Erwciterung verlagern sich die Aufengrenzen der EU aash
Osten. Aus curopdischer Sicht gelten das romische Reich, die Entwicklung der
Demokratie, der lumanismus sowie die Ideen der Aufklirung als Meilenstcine der
curopiischer Geschichte.

B) (06)
Leipzig ist einc Messestadt mit Tradition. Viele berithmte Leute lebien in 1.eipzig. Der
Dichter Johann Wolfgang von Goethe war hier Student. Heute ist Leipzig eine moderne
GroBstadt mit Industrie, Handel und viel Kultur. An der Universitit studieren Studenten
aus der ganzen Weit. In Leipeig pibt es fir jeden Besucher etwas. Das Stadtzentrum mit
schonen alten Hiusern, Geschiften und  Restaurants  lidt zum Bummeln ein.
Bucherfreunde komnicn jedes Jalr im Mire zur Buchmesse. Auch der Leipziger
Hauptbahnhof mit vielen Geschiften zihlt zu den schansten in Europa.

€) Ubersetzen Sie vier der folgenden Sitze! (08)
L. You can either write a letier or an email.
2. Earlier almost half of the households consisted of more than five persons.
3. Nobody wanis to give up the comiort and the high standard of living at home.
4. Skiing and mountainecring are the favorite sposts of Germans.
5. Excuse me, I want to open a saving account.

6. Some Germans prefer to bake their own bread at home.

Frage 2. Beantworten Sie dic folzenden Fragen (aur sieben) (14)
L. Wie felemn Siv den Muttertayg?
2. Welche Werte sind fiir die Jugendlichcn am wichtigsten?
3. Mochien Sie gern ausziehen? Warum?
4. Nennen Sie vier beliebteste Soprtarten der Deuschen!
5. Wie hat Europa seinen Namen bekommen?
6. Nennen Sic zwel Zicle der EU!
7. Was wissen Sie {iber die Stadt Frankfort?
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8. Was kann man in einer Bank machen?
9, Wie kamm Barbara Bhme auf die ldee der [ Trouble Shooters’™?
10. Méchien Sie gern in einer Groffumilie wohinen? Begriinden Sie thre Meinung!

Frage 3. Lesen Sie den folgenden text und beannworten Sie die darauf folgenden
Fragen! (10)

Dumm gelaufen!

Eincs Tages war ich mit meinen: Freund Darell verabredet. Ich fubr zu ithm, klingelte,
doch er war nicht da. Nach einiges Zeit rief ich thn mit dem Handy an und er versprach,
gieich zu kommen. ica war cin bisschen ddsc, wail or mich so lange warlen lief. Deshalb
beschioss ich thm einen kleinen Sireich zu spielen. ich versteckte mich hinter der TGr und
wartete auf Darek. Die Tiir ging auf. Ich sprang hervor und rief ,, Buh!!!'* Ich hatte Pech.
FEs war nicht Darek sondern seine Mutter, dic sich fiirchterlich erschrocken hat. Ich
entschuldigte mich sofort und erklirte ihr, dass ich das eigentlich fur Darek vorbereitet
hatte. In diesem Moment kam Darek und sah, dass ich mit seiner Mutter lachtc. Wir
crzdhlten thm die Geschichte und er hat sie spdter alicn unseren Freunden erzihlt.

Adbert Barun, 13, Miinchen

A) Beantworten Sie die folgenden Fargen! (03)

1. Warum versteckte sich Albert hinter der Tor?
2. Warum hat die Mutter von Darel cinen Schock?
3. Was heisst ,, dumum gelaafon™?

B) Welche Antwort passt? (02)

1. Einen Streich spielen heisst,
a) ein Musikinstrument spielen

b) mit jdm. ctwas Lustiges machen, um einfach Spaf zu haben.
c) ein Versteckspiel spielen

2. Ich hatte Pech
a} Ieh hatte kein Glick.
b) Ich hatte kein Geld.
c) Ich hatte keine Zeit.

C) Richtig oder Falsch ? (03)
1. Albert kam spiit zu Darek.
2. Die Mutter hatte Anust, wenn sic rein kam.
3. Darcks Mutter hat Albert geschimpit,

D) Suchen Sic Gegenieiie aus dem Text! (nur 2) (02)
1. glicklich x
2.weinen X
3. friih X
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¥rage 4. Grammatik (30)

4A) Bilden Sie Perfekt! (rur 3) (04)
1. Der Dieb sielit den Polizisten kommen.
2. Ieh konnte sehr gut malen.
3. Sie lidsst den Hund immer los.
4, Die Lehrerin lisst mich alles wieder schreiben,
5. Frither durfte man hier parken.

B) Setzen Sie die Zolgenden Verben in Priiteritum cin!(nur 4)

{pfilicken, wissen, zerstiren, tahrer, besichon) (04)
1. Friher die Familie aus tiin{ oder sechs Personen.

2. Die Madchen __seidne Blumen im Garten,

3. Die Hotels, Skipisten und Strafen dic Schinheit der Alpen.

4. Wir aur bis Hunburg,

5. Es gibt heute keinen Unterricht. du das nicht?

C) Ergéinzen Sie dic Adjekiivendungen! (06)
Einmal war ich bei einem schr out Freund von imir in seinem Studentenheim.
Das war ein zwar kiein aber gemiitlich Zimmer. Die Kiiche war aber
zicmlich grof . Da wollten wir etwas Lecker  kochen. Wir kauften
frisch Kartolfeln und machten cinen schén_ Kartoffelsalat und kauften

auch frisch__ Brot dezu. Hmmm! dastoll . Menii, kann ich nie vergessen!

D) Verbinden Sie die Sitze anhand der folgenden Konjuktionen!{nur 5) (05)
(entweder-oder, weder-noch, einerseits-andererseits, nicht nur- sondern auch,
sowohl-als auch, zwar-aber)

1. Der Film ist lang. Er ist tateressant.
2. Du brauchst einen Schirm. Du brauchst cinen Repcimnantel.
3. Die Hauser sind alt. Sie sind sehr schan.
4. Sie ist gut in der Schule. Sie ist gut im Sport.
5. Die Kleider in diesem Geschiift sind preiswert. Sie sind auch modisch.
6. Das Radfaliren ist gesund. Es ist auch billig.
E) Bilden Sie Siitze mit den Verben mit festen Pripositionen! (nur 5) (05)
1. denken
2. sich kiimmern
3. Angst haben
4. sich freuen
3. staunen
6. sprechen
7. danken
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F) Bilden Sie Passiv! (nur 5} 03
. Zuerst wiischt man dic Orangen.

. Ieh habe den Brief eingeworfen,

. Man renoviert das panze College.

. Sie haben das Paket nach Kanada geschickt.

. Man tanzt in der Dicko.

. Man hat meiner: Geldbeutel gestohlen,

oL e L b e

G) Bilden Sie Nomen! {nur 5) (05)

Lowandern: 2, laufen: 3. selbststindig: . beschreiben: 5. bilden:
6, schen: 7. anfangen: 8. arm

¥rage 5. Ergidnzen Sic den Dialog! (V6)

Kunde: Guten Tag

Verkdufer: Guten tag, ?

Kunde: _ .

Verkdufer: Aha, hicr bitte, zwei Flaschen Mileh, Brot und sechs Fier.
Kunde: 7

Verkdufer: Tut mir leid, wir haben kein Olivendl heute,

Kunde: ok, dann nehme ich das Sonnenblumendl.
Verkiufer: 7
Kunde: Ja, wie viel macht das zusammen?

Verkdufer: 38.76 Furo bitie! ?

Kunde: Nein, danke! ich habe meine Ginkaufstasche bubel.
Verkiufer: Auf Wiedersehen!

S
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Total No. of Questions : 4] [Total No. of Pages : 2

P149

Time : 3 Hours]

[4001]-107
F.Y.B.A.
URDU (General - 1)

(2008 Pattern)
[Total Marks : 80

Instructions :

P.T.O.

1) All questions are compulsory.
2) Figures to the left indicate full marks.
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Total No. of Questions : 4] [Total No. of Pages : 4
P-156 [4001]-116

F.Y.B.A.
ARABIC (Gen - 1)

(2008 Pattern)
Time : 3 Hours] [Total Marks : 80
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Total No. of Questions : 5] [Total No. of Pages :3

P143
[4001] - 101
F.Y.B.A.
COMPULSORY ENGLISH
Text Prescribed : REFLECTIONS - |
Ed. by P.Bhaskaran Nair, Geetha Rajeevan &
G. Radhakrishna Pillai

(2008 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figuresto the right indicate full marks.

Q1) Attempt any two of the following : [16]
a) Why did Sigaev decide to buy the net before he walked out of the
shop?
b) Do you think the poet approves of rituals and blind worship in the
poem ‘Leave this Chanting and Singing and Telling of Beads’.
c) Bring out the significance of the title “The Second Crucifixion’.

d) Write a short note on the theme of the poem ‘Mirror’.

Q2) Attempt any four of the following : [16]

a) Do you think Nicola and Jacopo had ambitions about their own lives?
What gives you the idea?

b) Describe the scene of destruction caused by the tsunami.

c)  Write a note on the theme of the poem ‘The Affliction of Margaret’.
d) Do you think Uncle Podger is a pompous person. Why?

e) What are the seven stages of life, according to Shakespeare?

f)  When did the Quick Man start suspecting the conjurer?

g) Consider ‘Gather ye Rosebuds while ye may’ as a metaphorical poem.

PT.O.



Q3) Attempt any two of the following : [16]

a) Attempt writing a description of what life would be like when India
becomes superpower. Use the structure would in your writing.
b) You want to join Army and your mother is against it. Develop a
conversation between you and your mother.
c) Describe in your own words the inaugural ceremony of ICC World
Cup 2011.
d) Write a short paragraph on any memorable day of your life.
04) Attempt any eight of the following : [16]
a) Give synonyms of the following words :
1)  Student.
i) Nation.
b) Give antonyms of the following words :
1) Wise.
i) Poor.
c) Choose correct alternative and rewrite the following :
1)  The restaurant.......... early. So try to get there before eight.
(fill out/fill up).
i) The bowler......... the umpire. (looked at/looked into).
d) Form one word each using the following suffixes :
) e ly.
1) — ness.
e) Make adjectives :
1) Beauty.
i) Wisdom.
f)  Use the following words in a sentence each :
1)  Suddenly.
i) Business.
g) Give one word substitute for the following :

1) A fruit without seed.
i) An expert in science.
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h)

Give full forms of the following acronyms :

i) ST.
i) SBI.
1)  Give short forms of the following :
1)  Maharashtra State Electricity Board.
i) Secondary School Certificate.
J)  Give noun forms of the following words :
1)  To direct.
i) To compute.
k)  Use the following phrases in your own sentences :
1) To keep up.
i) To carry on.
05) Do as directed (any eight) : [16]
a)  Write a sentence that begins with ‘I would........ g
b) They made him Chairman. (Change the voice).
c) Thereis......... university in the city. (use appropriate article).
d) Mahatma Gandhi was a nationalist. (Add a question tag).
e) His uncle died............ malaria. (Use appropriate preposition).
f)  *That was his dying wish’ Mountbatten told the leader. (Rewrite the
sentence using comma).
g) The boy is writing a........... (Use appropriate word).
h)  Will you open the door? (Make imperative sentence).
1) He worked.............. (Use suitable adverb).
J)  elizabeth come here said mr smith (Punctuate the sentence).
k) | will write a letter to the company. (Rewrite the sentence using ‘be
going to’).
I) I need to set/make a goal. (Use appropriate verb)

& 0. 0 0
0’0 0‘0 0‘0 0’0
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p1as [4001] - 106
F.Y. B.A.
GUJARATI (Gen.)
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
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Total No. of Questions : 5] [Total No. of Pages :3

P150
[4001] - 109
F.Y. B.A.
FRENCH (BEGINNERS)
(New Course) (2008 onwards)
Text : Apprenons le francais (Part 1, 2)

Time : 3 Hours] [Max. Marks : 80
Q1. Répondez en francais: (5 au choix ) (10)

Nommez deux écrivains frangais.

Queis sont les meubles dans votre chambre?
Que prenez-vous au petit —déjeuner ?

Quels vétements portez-vous pour la soirée?
Quel temps fait-il au printemps?

Quelles sont les couleurs du drapeau frangais?
En Australie, quel temps fait-il en décembre ?

NoOOR NS

Q2. Compréhension. Lisez le passage et répondez aux questions suivantes. (10)

Bonjour, je m'appelle Saphie. Jhabite dans une grande ville avec mon frére. Ma ville
s'appelle Mumbai. Elle est située dans le sud-ouest de {'Inde. J'habite dans le quartier
Caolaba. Mon ami Manuel n’habite pas loin d'ici. Ma ville est trés belle. Ma maison est
devant 'hétel « Taj ». J'aime ma ville. On trouve 4 Mumbai la mer, le soleil, la nature et ia
culture. Je suis fiére de ma ville.

Questions :

1) Dites vrai ou faux (5)
a) Mumbai n’est pas une grande ville.
b) La maison de Sophie est a Colaba.
¢) L'hdtel Taj est devant la maison de Sophie.
d) Manuel habite & Mumbai.
e) On ne peut pas voir la mer 2 Mumbai.

2) Donnez le contraire : grande, devant (2)
3) Donnez le féminin : ami, fréra {2)
4) Ou est Mumbai situge? {t)

Q3. Grammaire
A) Conjuguez les verbes : {10)

Les filles (&crire) une lettre.
Tu {vouloir) du thé ?

Nous (boire) du jus.

Je (venir) de Paris.

Ll e
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Mon enfant (étre) méchant.

Je {jouer) avec mes amis.

Je (acheter) les ceufs.

Elle (sentir) ia fleur.

Les gargons (faire) du ski.

0 Vous (travailler) dans une &cole.

seeNeo

B) Mettez Particle partitif :

1. Ma mére prend salade .
2. Nous ne mangeons pas ceufs.

C) Mettez I'article contracte :

1. Lasceur étudiant est professeur.
2. Vous pariez petite fille.

D) Mettez au négatif :

1. Il y a un chien dans le jardin.
2. C'est un enfant méchant.

E) Mettez au féminin :
1. Uacteur indien est souriant et sympathique.
F) Mettez au singulier

1. Nous avons des jupes noires.
2. fls apprennent les lecons.

G) Mettez un adjectif posseasif convenable :
1. Est-ce quiil prend déjeuner avec
H) Mettez les prépositions :

1. Marie va cinéma.
2. hiver, il fait froid..

1) Mettez en ordre :

1. Des / Manuel / de / yeux / bruns / sont
2. Est/Marc/de/sceur/Valérie/la

K) Trouvez la question :

1. Ce sont des fruits.
2. Aujourd’hui il fait froid.

L) Choisissez et complétez:

1. En été le ciel est . { gris, jauna, bleu )

[4001]-109 2
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2. |l travaille dans un hopital. H est’ {médecin, vendeuse, mecanicien)
3. Le est un fromage frangais. (champagne, camembert, bordeaux)
4. Mardi est le (premier, dernier, deuxiéme) jour de la semaine.
5. Un acteur travaille dans les (films, garages, bureatix)
8. I fait du en automne. (pleut, beau, vent, chaud)
7. L'euro est une (monnaie, chocolat)
W) Reliez les colonnes : (5)
1. Les fleurs a) le garage
2. Les poissons h) le jardin
3. Les voitures c} lesalon
4, |Les fauteuils d) la salle de classe
5. Les tableaux e) lamer
Q4. Tradulssz en anglais (10)

L'école de Nathalie est grande. Elle a cinq étages. Il y a un terrain de sport & coté de
récole. Les salles de classe sont grandes aussi. Il y a des tables et des chaises pour les
&idves &t un bureau et une chaise pour le professeur. Il y a des images contre le mur.

Les éléves apprennent la science, la geographie, Tinformatique, le dessin etc. I mettent les
cahiers blancs, roses et bleus sur les tables. lis adorent leur école.

Q5. Ecrivez une composition sur (10)
Mon chien
ou

Ma famille

Dol ped
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P152
[4001] - 112
EF.Y. B.A.
PERSIAN
General Paper - 1
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 80

N.B. 1) All questions are compulsory.
2) Figures to the right indicate full marks.
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Total No. of Questions : 4] [Total No. of Pages :3

P171
[4001] - 132
F.Y.B.A
OPTIONAL ENGLISH

Text : Poetry and Minor Forms of English Literature

(2008 Pattern) (General Paper - 1)
Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:
1)  All questions are compulsory.
2)  Figuresto the right indicate full marks.

Q1) a) Answer the following questions in about 20 words each (any five):[10]
1)  What are the two types of sonnet?
i) Define lyric.
Iii) What are the features of short story?
Iv) What is an argumentative essay?
v) Differentiate between one-act play and full-length play.
vi) What are the characteristics of an epic?
vii) Give two types of essay.
b) Identify and explain briefly the literary devices used in the following
lines (any five) : [10]
1) The waves beside them danced,
i) Love’s not Time’s fool, though rosy lips and cheeks.
iii)  Or sinking as the light wind lives or dies;
iv) And miles to go before | sleep,
And miles to go before | sleep.
v) Parting with his poison.
vi) Red booth. Red pillar-box. Red double-tiered Omnibus squelching
tar.
vii) And gathering swallows twitter in the skies.
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Refer briefly to the context and explain fully any two of the following:[10]
1) Love is not love
Which alters when it alteration finds,
i) To bend with apples the mossed cottage-trees,
And fill all fruit with ripeness to the core;
iii) | watched the flame feeding on my mother.
| watched the holy man perform his rites.
Iv) O where are you going? Stay with me here!
Were the vows you swore deceiving, deceiving?

Q2) Answer any one of the following questions in about 150 words : [10]
a) What is the quality of true love described in the poem ‘Let Me not to
the Marriage of True Minds’?
b) Consider ‘O What is that Sound’ as a war poem.
c) What according to you, the poem “Telephone Conversation’ is about?

Discuss.

Q3) Answer the following questions in about 150 words each (any two) : [20]

a)

b)
c)

d)

04) a)

Write a note on the theme of the story ‘The Greedy Old Woman and
the Lime Tree’.

Attempt a character sketch of King Midas.

How does Katherine Mansfield reveal the contrast between uncorrupted
world of children and the petty, cruel and vain world of adults?
Bring out the significance of the title “The Eyes Have It’.

Answer any one of the following questions in about 150 words: [10]

1) Depict the encounter between the bus conductor and the lady
passenger with a pet dog.

i)  Comment on the theme of the essay ‘My Financial Career’.

i) “That profession is the best where distinction between work and
play disappears’. Illustrate with the help of the essay ‘Hobbies
and Interests’.
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b) Answer any one of the following questions in about 150 words :[10]
1) Do you think that the professor is absent-minded about every-
thing? Why?
i)  Bring out the significance of the title ‘The Dear Departed’.
iil) Sketch the character of Major Morris in ‘The Monkey’s Paw’.

& 0. 0 0
0’0 0‘0 0‘0 0’0
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Total No. of Questions : 5] [Total No. of Pages :3

P174
[4001] - 136
F.Y.B.A.
MATHEMATICS
FMG - 1 : Industrial Mathematics
(2008 Pattern)
Time : 3 Hours] [Max. Marks :80

Instructions to the candidates:

1)  All questions are compulsory.

2)  Figuresto the rightindicate full marks.

Q1) Attempt each of the following : [16]

a) How long will it take any sum of money to double it self at 12.5% per
annum simple interest?

b) A certain sum is invested at 8% compounded quarterly from October
10, 1954 to January 10, 1992. Find rate of interest i per interest period
and the number of interest periods.

c) Find x and y intercept of the line 5x — 2y + 10 = 0.

d) Find the present value at 8% simple interest of Rs. 15,000 due in
9 months.

dy
If y = e*sinx then find —.
e) y = e*.sinx then fin i
2
: —2x—-24
f)  Evaluate lim 2~ X%
X—6 X—06
L 46

g) If the average cost function is given by AC=15Q + 4 + 6 then
find the marginal cost function.

h) Define price elasticity of demand and price elasticity of supply.

PT.O.



Q2) Attempt any four of the following : [16]

a)  Find the amount and present value of an annuity of X 1,500 per month
for 3 years, 6 months, if money worth 6% compounded monthly.

b) Six years after X put X 2,500 in a savings bank account which earned
interest at 2%% per annum compounded semi annually, the interest
rate was raised to 3% p.a. compounded semi annually. How much
was in the account 10 years after the change in initial rate?

c) Show that exact simple interest is equal to ordinary simple interest
decreased by L of it self.

73

d) Write note on present value of the debt and equation of value of an
interest bearing debt.

e) Draw the graph of the function y = 3x — 7 find the value of y when x
equals to y.

f) M borrows X 50,000 today with interest at 5% p.a compounded semi
annually. He agrees to pay X 10,000 one year from today, X 20,000
two years from today, and the balance 3 years from today. Find the
final payment.

Q3) Attempt any two of the following : [16]

a) Plot the graph of the curves y = x? and y = x. Also find their points of
intersection.

b)  With usual notation, prove that
) (@A+0)S,,=S-7,-1
i) S =Sq + (L +D)" Sy,

c) Use the MR = MC method to maximize the profit = and check the
second order conditions, given
TR = 1400Q — 7.5 Q% and TC = Q* - 6Q? + 140Q + 750.

d) Discuss the continuity of the function

) f(X)=x+43-7x+e,VxeR
3_

X—8, for x #2

i) 90 =1 x-2 ,
7 , forx=2
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Q4) Attempt any four of the following : [16]

a) Let u and v be differentiable functions of x and y = u.v, prove that
dy dv du
dx Cdxdx
b) Letu=x2-5x+7,v=2sinx+e*+5andy= E,find d—u,ﬁ,andﬂ.
v dx  dx dx

c) Lety=x3-06x*-135x + 4. Determine the critical values at which y is
optimized and using the second derivative test determine whether there
Is a relative minimum or relative.

d) Maximize profits & for a firm, given total revenue R = 4,000Q — 33Q?
and total cost C = 2Q3 — 3Q? + 400Q + 5,000 assuming Q > 0.

e) Show that f (x) = 3x?> — 14x + 5 is increasing function at x = 4, while
g(x) = x® — 7x* + 6x — 2 is decreasing function at x = 4,

f)  The demand function is Q = 50 — 5P. Find the inverse function. Esti-
mate the elasticity of both the functions at P = 2.

05) Attempt any two of the following : [16]

a) Ify=1(x) isdifferentiable at x = a. Then prove that it is continuous at
X = a. Is the converse true? Justify.

b) Let f(x)= )2(_49 , if x# 7. Define f (7) so that f (x) is continuous at 7.
If f (X) is continuous at 7, is it differentiable at 7.

c) Define marginal cost and marginal revenue prove that marginal cost
must equal marginal revenue at the profit maximizing level of output.

d) Lety=x*-7x®+3x*-8x + 15. Investigate the successive derivatives

and evaluate them at x = -1.
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Total No. of Questions : 5] [Total No. of Pages :3

P177
[4001] - 138
F.Y.B.A.
MATHEMATICS
MG - 1 : Algebra and Geometry
(Paper - 1) (2008 Pattern)
Time : 3 Hours] [Max. Marks :80

Instructions to the candidates:

1)  All questions are compulsory.
2)  Figuresto the rightindicate full marks.
Q1) Attempt each of the following : [16]
a)  Find power set of the set A = {a, b, c}. If A has n elements, how many
elements are there in P(A)?
b) Find ¢ (1050).
c) Find the modulus of i + (2 + 3i)2
d) State division algorithm for two polynomials f(x), g(x) in Q(x) where
g(x) = 0.
e) Shift the origin to the point (1, —2) and transform the equation
2X*+y2 —4x + 4y = 0,
f)  Find the direction cosines of a line whose direction ratios are -3, 4, 5.
g) Find the centre and radius of the sphere x* +y? + 7> —x — 3y + 22— 10 = 0.
X X X
h) Find the rank of a matrix | X X X | where x # 0.

X X X

PT.O.



Q2) Attempt any four of the following : [16]

a) LetA=B=C=Randletf:A—B,g:B—Chedefinedbyf(a)=a-1,
g(b) = b2 Find (gof) (a), (fog) (a), Hence find (fog) (1), (gof) (2).
b) Ifa, b, care integers such that a | bc and gcd (a, b) = 1 then prove that a | c.
c) Show that the integers 64 and 43 are relatively prime and find the
values of x and y such that 64x + 43y = 1.
d If|z-1|=|z+i]|, then show that Imz = 0.
e) Find the quotient and remainder when 3x” — x® + 31x* + 21x + 5 is
divided by x + 2.
f)  Show that congruence relation on Z is an equivalence relation.
Q3) Attempt any two of the following : [16]
a) State and prove De Moivre’s theorem.
b) Let R be an equivalence relation on A and a, b € A. Then prove that
(@, b) € Rifand only if [a] = [b].
c) i) Solve the equation x* — 3x? + 4 = 0, two of it’s roots being equal.
i) Find the greatest common divisor of the polynomials
f(x) =3x3+ 6x* + 3and g(x) = 3x* + 9x* + 6x* = 3x + 9
d) 1) Find 7, seventh roots of 2.
i) Let A be the set of points in the plane let R be a relation on A
such that (a, b) R (a', b") if and only if a + b = a' + b'. Show that
R is an equivalence relation.
04) Attempt any four of the following : [16]
a) Reduce the equation 5x* + 6xy + 5y? — 4x + 4y — 4 = 0 by shifting the
origin to its centre.
b) Find the equation of the plane passing through the point P(1, 1, 2) and
perpendicular to the two planes x —y —z =1 and 2x + 3z = 4.
c) Find the equation of the sphere whose diameter is the line joining
A(4, 8, =3), B(-2, 3, 5). What is the radius of the sphere?
d) Find the distance between two parallel planes x — 2y + z - 4 = 0 and

3x—-6y+3z-8=0.
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e) Solve the following system of equations by Gauss-elimination method.

x1+x2+2=0
x2+x3=1

x1+x3=1.

f)  Show that a line intersects a sphere in two points.

05) Attempt any two of the following : [16]
a)  Find the equation of the tangent plane to the sphere x + y> + z2+ 2gx +
2fy + ¢ = 0 at the point (x,, y,, Z,)
b) Find the values of A for which the following system have

i)
i)
i)

no solution

unique solution
infinitely many solutions
X+y—-z=1,

2X + 3y + Az = 3,
X+Ay+3z2=2

c) Define shortest distance between two skewlines. Find the shortest
distance between the lines

d) i)

[4001]-138

Xx-3 y-8 z-3

3 -1 1
X+3 y+7 z7-6
nd 3T T

Find the angle between line XT+1=%=ZT_3and the plane

X+y+z=1.
Is it possible to draw a line which will make an angle 30° with
x-axis and 45° with y-axis? Justify.



Total No. of Questions : 5] [Total No. of Pages :3
P181
[4001] - 144
F.Y.B.A.
MATHEMATICS (Applied Mathematics)
AMG - | : Calculus

(2008 Pattern) (General - 1)
Time : 3 Hours] [Max. Marks :80

Instructions to the candidates:
1)  All questions are compulsory.
2)  Figuresto the rightindicate full marks.

Q1) Attempt all the subquestions : [16]
a) Ifa=0,thenprovethat|x|<a=-a<x<a
b) Show that the sequence < (-1)"> is divergent.

c) Show the series

—t—t—+.... +2—1n+ ------ IS convergent.
d) Discuss the continuity of the function f (x) at x = 0.
Where f (x =%, ifx#0
=0 , ifx=0.

X
e) Evaluate, lim 2 -1
x—0 p* =1

f)  State Taylor’s theorem with Lagrange’s form of remainder.
g) Ify=e® then show that (1 + x?)y, + (2x — 1)y, = 0.

h) Test whether Rolle’s theorem is applicable for the function f (x) = 2 +
(x —1)?? on [0, 2].

PT.O.



Q2) Attempt any four of the following : [16]

a) Find all real numbers that satisfy the inequality ? <1.
+ X
b) Prove that every convergent sequence in real number R is bounded.
c) Show that lim sin1 does not exist in real number R.
x—0 X
d) Prove that the sequence <x > defined by
X, = L + 1 + 1 + +LVneN IS convergent
" n+l n+2 n+3 7 n+n’ ’ Jent
- - < 1
e) Discuss the convergence of the series 2 >
n=1 VYnN°+1
f)  Show that the sequence <x > where X, =% IS a cauchy sequence.
Q3) Attempt any two of the following : [16]
1 1 1 1
a) Provethatthe sequence <x >, where X, _1+ﬁ+5+§+ ...... +E,Vne N
converges between limits 2 and 3.
« 1 :
b) Show that X, P s divergent, if P < 1.
n=1
c) 1) State order axioms for set of real numbers.
i) Prove that lim Ixl+2x does not exist.
x=0| 5x —3| X|
d) 1) Discuss the convergence of the series i L :
o n(n+1)(n+2)
i) Determinetheset A={xe R/|x=2|<|x]|}.
04) Attempt any four of the following : [16]
a) State and prove Rolle’s theorem.
b) Discuss the continuity of the function f (x) at x = 0, where

1/x

X.e
f(X)=———, ifx#0
) 1+eY*

=0 . ifx=0.
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c) Verify Lagrange’s mean value theorem for the function f(x) = /1 - x2
on [0, 1].

d) Evaluate, lim ! _ ! :
x=2| x—2 log(x—1)

e) Obtain the expansion of es™ up to first four terms.
f)  Verify cauchy’s mean value theorem for the function f(x) = sinx and

g(x) = cosx on (0, %j

05) Attempt any two of the following : [16]
a) Ify=e*. Cos(bx +c), then find y . Hence obtainy,, if y = e Cos (2x + 3).
b) 1) If afunction f: [a, b] — R is continuous on [a, b] and k € R
satisfies f (a) < k < f (b), then prove that there exists a point ¢ € [a, b]

between a and b such that f(c) = k.

i) Ify= X+l then find
i) Z_a en findy .
c) 1) Prove that, if a < b then
b-a < tan'b - tan'a < b-a
1+b? - 1+a?’

. . 1
i) Evaluate lim(cosecx) —.
x—0 logx

d) i) Ify=sin?x, then show that
1=y ,—-@n+1)xy  —niy =0.
i) Find o, B, if the function f(x) is continuous on (-2, 2) where
f(x) =x+ 2, —2<x<0
=2x+1, 0<x<l1
=B - x, 1<x<2.

o
o
%
%
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Total No. of Questions : 4] [Total No. of Pages : 2

P183
[4001]-147
F.Y.B.A.
MATHEMATICS
Mathematical Prerequisites
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of electronic calculator is allowed.
4) Draw graph where indicated.
Q1) Attemptany TEN of the following: [20]
a) Find the slope and y-intercept of the equation 3y + 24x = 9.
b) Ify=x3+2x+9 Findﬂ.
’ dx
c) Find the price elasticity of the function
Q=75-5PatP=3.
d) Iff(xy)=2x% +x%? Find f, f.
e) Define: Implicit Function.
f)  Find the marginal physical productivity for the following production
function Q = 6x2 + 3xy + 2y2,
g) Solve the simultaneous equation
2Xx—y=-24and x +y = 3.
h)  Draw the graph of the equation 3y — 6x = 3.
)  Write the product rule of derivative.
: - dy
)  Find ™ at x = 3, where y = 6x> + 2x + 1.
k)  Find the critical values of the function
y =5+ 2x + 6x2
) IfZ=(xy)*+ xy, Find Zxy.
m) Graph the demand function P = 30 — 2Q, find the marginal revenue

function.

P.T.O.



Q2) Attemptany TWO of the following: [10]
a)  Find the marginal cost function of the following average cost function

AC=4Q +4 o
= +4+ .
Q*4* g
b) Find the total differential of Z = x* + 8xy + 3y3.

c) Findthe price elasticity of demand of the function 8Q + 2P =56 at P = 5.

d
d) Use the chain rule to find d—i ify=(4x*-1)".

Q3) Attempt any TWO of the following: [20]

a) Use the elimination method to find the equilibrium price and quantity
when the demand function is 3P + Q? + 5Q — 102 = 0 and the supply
functionisP - 2Q?+3Q + 71 =0.

b) Determine the critical values of the function
Z = 3x? + 3y® — 9xy.

c) Explain the relationship between total product and marginal product.

. . - _dy L 3x(2x-1)
d) Write the quotient rule of derivative, hence find dx atx=0,ify= (3x— 2) :
Q4) Attempt any TWO of the following: [30]

a)  Minimize the total cost function
C = 8x% + 6y? — 2xy — 40x — 42y + 180
Subject to the production quota x +y > 12.

7 Ix-7y _ _
b) |If 2x+5y then verify Zxy = Zyx.

c) Explain the following
)  Income Determination Model.
i)  The Lagrangian multiplier.
d) A firm has the demand function 22 — 0.5Q — P = 0 and the average cost

1 90
function AC = §Q2 - 8.5Q +50 +6

Find the level of output which maximizes total revenue and total profit.

- o e
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P186

[4001]-151

F.Y. B.A. (Vocational Stream)
FUNCTIONAL ENGLISH

An Introduction to English Language and Writing Skills in English

(Theory) (Paper - 1) (2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) a)

b)

Write short notes on any two of the following: [6]
I)  Morphology as a level of linguistic analysis.

i)  Active and passive articulators.

i) Longvowels in English.

Fill in the blanks. (Any five) [5]
I)  The initial consonant sound in the word “leak’ is

i)  The vowel sound in the word “look’ is

i)  The initial consonant cluster in the word ‘treat’ is

Iv) The final consonant in the word ‘bring’ is

v) The diphthong in the word ‘tour’ is

vi) The central vowels in British RP are

vii) The voiced plosives in British RP are

i)

Vi)

State whether the following statements are true or false. (any five). [5]

Affricates are produced with complete closure and slow release.
/f, vl are plosives in British RP.
Teeth are active articulators.
Diphthongs are vowel glides within the same syllable.
\owels are voiceless sounds.
There are five long vowels in British RP.
There are no nasalized vowels in British RP.
P.T.O.



Q2) a)

b)

d)

Q3) a)

[4001]-151

Use the correct tense forms of the verbs given in the brackets. [3]

One evening | was (come) back home from my school. I (go) to the bus
stop and (stand) in the queue, hoping to catch the last bus.

Fill in the blanks with appropriate prepositions given in the brackets.[2]
[to; for; in; from]

The best way choose a career is to get guidance your
parents and teachers. You can also consult your elders and friends. There
are career specialists who can help choosing career. They test
your aptitude a certain career and give opinion.

Change the voice. [2]
I)  The fast bowler scored a century.
i)  The minister is answering the questions.

Use articles (a/an/the) wherever necessary. [2]
What romantic idea of being invisible! It reminds me of the days
of Arabian Nights. If | could make myself invisible for day,

first of all | would go to the aerodrome and have a joy ride in
aeroplane.

Correct the following sentences. (any five) [5]
[)  Manasi is my cousin sister.

i)  We have made a history, isn’t it?

i) Ramesh is feeling happy after getting distinction.

Iv) My father go to temple everyday.

v)  One of the students have left early.

vi) He came home?

vii) There was a earthquake in Indonesia.

Write notes on any two of the following: [10]
)  Uses of falling tone.

ii)  Syllable.

i)  Stress shift.



b) Divide the following sentences into tone groups and mark accent and
intonation.(any five) [10]

I) lread thearticle in the morning.

i)  Jatin went to Ramesh and whispered in his ears.
i) The chairman asked, “What should we do now?’
Iv) If you help me, | will help you some day.

v)  Elections will be held in the next month.

vi) Go home, open the book and prepare notes.

vii) | went to him but he turned away.

Q4) Develop the following points into a good paragraph of about fifteen sentences.
[10]

Books: Our Best Friends

Source of knowledge - entertainment - good company - useful for
studies - guidance - new thoughts and new ideas - unfailing friends

OR
Write a paragraph of about fifteen sentences on ‘My Hobby’.

Q5) Write a paragraph to convey the information presented in the chart given
below. [10]

Average Monthly Expenses of Sumeet Industries, Ltd, Pune (Rs. 1,20,000)
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Q6) Read the following entries from the Oxford Advanced Learner’s Dictionary
and answer the questions given below. (any five) [10]

po-tice /palis/ noun, vers

ungnn (often the police) (pl1 an official organization
whose job is 16 make people obey the law and to prevent
snd sobve crime; the people who work for this organ-
ization: A man was arrested by the police and held for
guestioning. o Get ot of the house or I'l! ca il the palice ¢
Police suspect o loml gang. o a police sar/enquiry fwarn-
ing o Hundregs of police In riot gear struggled Io control
the piolence,—see also SECRET POLICE

= verd [vh] 1 (of the police, anmy, etc.) to go arcund a
particular area to make sure that nohody is breaking the
law there: The border will be policed by UN officiais. 2 (of
a pommities, ete) to make sure that a particular set of
ruies is obeved: The profession Is policed by its own regi-
latory body. :

pa'lice commi
MISSTONER

police 'constable (also constable) noun (abdr. PT)
(in Britain and some other countries) a police officer of
the lowest rank: Police Consiable Jordan

po'lice dog noun a dog that is trained to find or attack
suspected criminats

po'ltce farce noun the police organization of a country,
district or town

po-lice-man /pa'li:smen/ noun (pl. -men /-man/) a male
poiice officer > note at GENDER

po'lice officer {also officer) noun a memnber of the
police

po'lice state noun (disapprocing) a country where
people’s freedom, especially to travel and to expross polit-
ical opinions, i controlled by the government, with the
help of the police

po'llice statlon (4mE also 'statlon housa) noun the
office of 3 local police force: The suspect was faken lo the
nearest polive siarion for guesiioning.

po-licewo-man /pdliswignen’ noun (el -women
Z-wpmm/) & fermale police officer < note at GENDER

po-licing /palisin/ poun (U] 1 the activity of keeping
order in a plase with police; communily pelicing 2 the
activity of controlling an industry, an activity, ete. to
make swre that people obey the rules: dhe policing of
legislation

pod-icy /'polagl; AmE 'pa:l/ noun (pl fes) 11C, U] ~ [on
sth) a plan of action agreed or chosen by a palitical party,
a business, ete: the present government'’s policy on educa-
tion o The company has adopled a firm policy on shoplift-
ing. o US foreign/domestic policy ¢ They haove had a

nepn (especialiy AmEYy = com-

significant chatige in policy on peternlly leave. o o policy
document 2 {C, U} (forsmal) & principle that you believe in
that infiuences how you behave; a way in which you
usually behave: She is following her usual policy of ignor-
ing aki affers of help. ¢ {saving} Honesty is the best palicy.
3[C) a written statement of a contract of insurance:
Check the tering af the policy before you sigr,

Questions:
a) Transcribe the words ‘policeman’ and ‘policing’ phonemically.
b) Give two meanings of “‘police as verb.
c) How many syllables are there in the words “police’ and ‘policewoman’?
d) Which syllables are stressed in the words ‘policy’ and ‘policeman’?
e) Use the term “police force’ in your own sentence.

f) Give the British as well as the American pronunciations of ‘policy’.
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P188
[4001]-154

F.Y. B.A. (Vocational Stream)
TRAVEL AND TOURISM MANAGEMENT

Paper - | : Fundamentals of Tourism

(2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams and sketches wherever necessary.
4) Use of map stencil is allowed.

Q1) Explain any two in brief (Around 50 words). [10]
a) Sanctuary.
b) Colva beach.
c) Traveler.
d) Consumer,

Q2) Write short notes on any four (Around 100 words). [20]
a) Cultural products of Tourism.
b) Kathak.
c) Beach Tourism.
d) Annual holiday.
e) MTDC.
f)  Foreign currency.

P.T.O.



Q3) Answer any three (200 - 250 words) [30]

a) Explain Roman Empire with pleasure travel.
b) Explain international sports series and its effects on tourism.
c) Define Tourism business.
d) Explain the formation of Ministry of Tourism.
e) Cost benefit of International Tourism.
Q4) Answer in detail any one (Around 500 words) [20]
a) Explain the growth of Tourism through ages.
b) Benefits of the study tours to the students.

[4001]-154



Total No. of Questions : 4] [Total No. of Pages : 2

P189
[4001]-155

F.Y.B.A.
COMPUTERAPPLICATION -1

(Vocational Course - I) (New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates:
1) Figures to the right indicate full marks.
2) Draw a neat and labeled diagram whenever necessary.

Q1) Define the following (Any Five). [5]
a) BCD Code.
b) MICR.
c) Joystick.
d) RAM.
e) GUI
f)  Hardware.
g E-Malil.

Q2) Solve the following (Any Four) [8]
a) (1100)2*(1010)2.
b) (110111)2-(011011)2.
c) (135)10=(?)2.
d) (FAB)16 =(?)2.
e) (1000)2=(?)8.
f)  (125)6=(?)2.

Q3) Write short notes on (Any Five) [15]
a) Mail Merge.
b) Distinguish between Primary & Secondary Storage.
c) Slide sorter view of Power Point.
d) Windows Operating System.
e) Point & Draw Divices.
f)  Storage Unit.
g) System Software.

P.T.O.



Q4) Answer the following (Any Three)

a)
b)
c)
d)
e)

[4001]-155

Explain ALU and CU units of CPU.
Types of computer.

Characteristics of computer.

View menu of Microsoft Word.

Any four mathematical functions of Excel.

[12]
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P190
[4001]-157

F.Y.B.A.
COMPUTERAPPLICATION-1I

(Vocational) (Paper - 11) (2008 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates:
1) Figures to the right indicate full marks.
2) Draw a neat and labeled diagram whenever necessary.

Q1) Define the following (Any Five). [5]
a) Float data type.
b) Constant.
c) Putchar().

d) Clrscr ().
e) Algorithm.
f)  increment operators.
g =and=-=
Q2) Solve the following (Any Four) [8]
a)  Find the output of following
\oid main ()
{
Inta=5;
Float b = 5.25;
Printf(“Ans = %d”, a+b);
}
b) Find the output of following
\oid main ()
{
Inta=5,b;
Int funone (int);
B = funone(a);
Printf(“B = %d”,b);
}

P.T.O.



d)
€)

Int finone(int x)

{
If(x<5)
Return(x + 10);
Else
Return (x);
}
Find the output of following
\Void main(
{
Char s[] = {*“programming”);
Int *p;
pP=&s;

For(i=3;*p!="\0";i++)
Printf(“%c”, *p++);
}

Write an algorithm to calculate area of circle.

Draw a flowchart to print table of given number.

Find the output of the following
\Void main()

{

Int x=10, y=20,z=100;

If (x>5 && y<z)

Printf(“X and Y in range”)

Else If (y>x+10 || z<100)
Printf(“\n Z is in range”);

Else

Printf(“No one in range”);

¥

Q3) Write short notes on (Any Five)

a)
b)
c)
d)
€)
f)
g)
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Types of Arry.

Use of Pointers in C.

Difference between do...while & while
Rules for Variables names.

Logical Operators.

Structure of ¢ program

String functions (Any two)

[15]



Q4) Answer the following (Any Three)

a)
b)
c)
d)
e)
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Write a program to find that given number is prime or not.

Explain different types of functions.

Write a program to find length of given string.
Explain various data types used in c.

Write a program to print following output.

ABCDEFG
BCDEF
CDE
D

[12]
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P393 [4001]-131
F.Y. B.A.
STATISTICS
Discrete Probability and Probability Distributions
(2008 Pattern) (Paper - II)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of statistical tables and calculator is allowed.
4) Symbols have their usual meanings.
5) Graph papers will be supplied on request.
Q1) Attempt any two of the following : [2 X 5=10]
a) Explain:
i)  Random experiment.
i)  Sample space with illustration.
b) i)  State axioms of probability.
ii)  State addition theorem of probability.
c) Define with one illustration :
i)  Event,
i)  Mutually exclusive events,
iii) Exhaustive events.
d) Define hyper geometric distribution also obtain its mean.
02) Attempt any four of the following : [4 x 5 =20]
a) Obtain mean and variance of a discrete random variable X whose
probability distribution is as follows :
X 1 2 3 -+ 5 6
P(X=x)| 6/36 | 10/36 | 836 | 6/36 | 4/36 | 2/36
b) Define Poisson distribution with parameter m. State its mean and variance.

Give any two real life situations where Poisson distribution can be used.

PT.O.



c) LetX— B(4,0.6),Y — B(6,0.6)betwo independent random variables.
State mean, mode and variance of Z. Where Z=X + Y.
d) Let A and B be events defined on sample space Q2. P (A) = 0.8,
P (A UB)=0.9 and P (B) =x, find the value of x if A and B are
i)  Independent.
i)  Mutually exclusive.
e) Define complement of an event. Also prove that
i) PA)=1-P(A).
i) P(d)=0.
f) Let A and B be events defined on sample space Q such that
P (A) = 1/4,P (B/A)="2and P (A/B) = 1/4. Prove that
i) A and B are independent.
i) P (A'/B')=7%.
03) Attempt any three of the following : [3 x 10 = 30]
a) 1) A, Band C form a partition of sample space 2 .
If 3P(A) =2P (B) =P (C), find P (AUB). [5]
ii) Given that P(A|) = P(A)) = P(A,) = 1/3 and P(B/A)) = 2/7,
P (B/A,)=4/9, P (B/A))=1/5, find P (A /B). [5]
b) i)  State and Prove Baye’s Theorem. [7]
i) LetX — B(n,p). Ifp=0.6,E (X)=06, find n and var (X). [3]
c) Let(X,Y) be a discrete bivariate random variable with following joint
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probability distribution : [10]
X/Y 0 1 2 3
0 ok 2k 4k
1 2k ok 4k 8k
2 3k ok ok 12k
i)  Find k.

i) Are X and Y independent?

i) Find P(X=Y).

iv) FindP(X+Y<1).

v) Find P (X?+Y?<4).




d) 1  Consider the experiment of rolling two fair dice.
Let A = odd number appears on first die,
B = Odd number appears on the second die and
C = Sum of two points is odd. Show that A, B, C are pair wise
independent but not mutually independent. [6]
i)  Find probability generating function of binomial distribution with
parameters n and p. [4]
e) 1)  State and prove additive property of binomial distribution. [6]
i) A random variable X follows Bernoulli distribution with u, = 0.
What is the value of p. (4]
04) Attempt any one of the following : [1 x20=20]
a) 1)  Define cumulative distribution function (c.d.f.) of a discrete random
variable. State its properties. [5]
i) Following is the distribution function F (.) of a discrete random
variable X.
X 1 2 3 4 5 6 7 8
F (x)[0.08]{0.12]0.23 | 0.37] 0.48] 0.62] 0.85| 1
Find
I) Probability distribution of X.
Il P(X<4)andP (2<X<06).
[I) P(X=5X>4).
IV) Median of X.
V) P(X>6/X>4). [10]
iii) A radar system has a probability of 0.1 of detecting a certain target
during a single scan. Find the probability that the target will be
detected
I) Atleast twice in four scans.
II) At most once in four scans. [5]
b) i)  Explain: [10]
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I) A bivariate discrete random variable.

I1) Joint probability mass function of (X, Y).

III) Marginal distribution of X.

IV) Conditional probability distribution of Y given X =x.
V) Independence of two discrete random variables.

3



i) X and Y are independent random variables with joint probability
distribution partly shown in following table. Fill in the gaps.  [5]

X\Y 0 1 Total
0 1/6 - -
1 - - 2/3
Total - ) 1

iii) IfX%P(m),suchthatP(X=5)=%P(X=4),ﬁndP(X=3). [5]
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Total No. of Questions : 4] [Total No. of Pages : 3

P394 [4001]-143
F.Y. B.A.
STATISTICS

Descriptive Statistics - 1
(2008 Pattern) (Old & New) (Paper - 1)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Symbols and abbreviations have usual meanings.

4) Use of calculator and statistical table is allowed.

5) Graph paper will be provided on request.

Q1) Attempt any two of the following : [2 X 5=10]

a)  Write a short note on histogram.
b)  Write a short note on Central Statistical Organization (C.S.O.) in India.

c) If AM. and GM. of the two observations are 13 and 12 then find the
two observations and also compute H.M.

d) Explain the procedure of stratified random sampling with an illustration.

02) Attempt any four of the following : [4 x 5 =20]
a) What is measure of central tendency? What are the requirements of good
measure of central tendency?

b) For a group of 10 numbers on a variable the mean and S.D. were
calculated as 50 and 5 respectively. At the time of checking it was
discovered that two observations were wrongly taken as 40 and 16 instead
of 14 and 60. Find the correct mean and S.D.

c) Givenp,'=3 w,"= 10, u,"= 50, obtain S.D., u, and C.V.
d) Write a short note on skewness. State various measures of skewness.
e) Distinguish between SRSWOR and SRSWR.

f)  State and prove minimal property of mean square deviation.

PTO.



03) Attempt any three of the following : [3 x 10 = 30]

a)  With usual notations prove that, §, > 8, + 1.
b) 1)  Define raw and central moments in case of discrete data. Obtain
third central moment in terms of its raw moments.
i) Find the missing price if the ratio of Laspyre’s price index to
Passche’s price index is 28 : 27 for the following data :
Commodity | p, q, p, q,
A 1 10 2
B 1 5 - 2
c) Givenn pairs of observations (xi,yi)i=1, 2, ....... n, explain the procedure
of fitting of line of regression of Y on X of the type Y = a + bX, by least
square method.
d) 1) In dichotomy with two attributes A and B the observed class
frequencies are as follows :
(AB) =13 (AB) =20 (aB) =15 (af) =25
Find the remaining class frequencies and check for the independence
of A and B.
i)  Write a short note on scatter diagram.
e) 1) Obtain the expression for acute angle between the two lines of
regression.
ii)  Calculate correlation coefficient for the following data :
n=735, 2x =20, Zx* =90, Zy = 20, Xy?> = 90, X xy = 73.
04) Attempt any one of the following : [1 x20=20]
a) 1)  Explain various problems in the construction of index numbers.|[10]
i)  The equations of the two lines of regression are 3X +2Y —26 =10
and 6X +Y =31. Find Corr (X, Y) and estimate Y for X =2. [5]
i) In a morbidity survey of 100 families, it was found that 50 were
attacked by typhoid, 25 were attacked by cholera and 20 were
attacked by both. Find the number of families not attacked by both
diseases. [5]
b) 1)  Given n pairs of observations (xi, yi)i=1, 2, ....... n, explain the
procedure of fitting of second degree curve of the type Y =a + bX
+ ¢X?, by least square method. [5]
i)  Show that the correlation coefficient (r) always lies between — 1
and + 1. [5]
[4001]-143 2



iii) In a certain test ranks assigned by the two judges A and B are as
follows : [S]
Ranks by A |5 643 (2] 1
RanksbyB |6 2|13 ([4]|5

Obtain Spearman’s rank correlation coefficient and comment.
iv) Weighted scores of students along with weights are given below :

[S]

Test Written | Viva-voce | Group discussion
Scores out 75 60 65
of 100
Weights 2 1 2

Find the weighted A.M. of scores.
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Total No. of Questions : 4] [Total No. of Pages : 3

P395 [4001]-145
F.Y. B.A.
APPLIED STATISTICS
Descriptive Statistics
(Paper - I) (2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculator is allowed.
4) Use of statistical tables is allowed.
5) Graph papers will be provided on request.
Q1) Attempt any two of the following : [2 x5 =10]
a) Explain the following terms with one illustration each :
i)  attribute.
i)  discrete variable,

b)  Write short note on stratified random sampling.

c) Draw ‘less than’ ogive curve for the following frequency distribution :
Class-interval [155-160{160-165[165-170(170-175|175-180
Frequency 2 16 30 20 2

d) State the merits and demerits of harmonic mean.

02) Attempt any four of the following : [4 x 5 =20]

a) Following data give the number of employees in a certain factory in the

years 2001 to 2006 :
Year 2001 | 2002 | 2003 | 2004 | 2005 | 2006
No. of 520 | 760 | 630 | 910 | 830 | 940
employees
Draw vertical bar diagram to represent the above data.
b) Explain the term ‘skewness’ using suitable frequency curves. Explain

different types of skewness.

PT.O.



Given:

Group 1 Group II
n, = 80 n, =350

Y (x, —20)=60 2(%1;030):20

Find X, Yy and combined arithmetic mean of the two groups.

d) Explain inclusive and exclusive methods of classification with one
illustration each.
e) Define mean deviation about mean and standard deviation. State the
formula of each in case of frequency distribution.
f)  Given:
(AB) =256, (aB) =768, (APB) =48 and (o) = 144. Determine whether
A and B are independent.
03) Attempt any three of the following : [3 x 10 = 30]
a) 1) Fora group of 20 observations, Zx, = 450, =X’ =24270 and
mode = 45.72. Find Karl Pearson’s coefticient of skewness and
comment on nature of the distribution. [6]
ii)  Define the term ‘Kurtosis’. Explain the types of Kurtosis. [4]
b) 1)  Explain the concept of correlation and also explain different types
of correlation with one illustration each. [6]
ii)  State the demerits of standard deviation. (4]
c) Giventhat N=70, Xfix =310, Xfix> = 2014, Xfix’ = 2200, Xfix* = 3120
calculate the first four raw moments and central moments of random
variable X. [10]
d) 1  Explain the procedure of estimating trend by the method of least
squares. [6]
i)  Explain the term population and sample with one illustration each.[4]
e) 1) Calculate Spearman’s rank correlation coefficient for the following
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data : [6]
X 1263122 1733|2130 34| 23| 29
Y [ 3736 18 27| 24|30 21| 22| 17| 12

ii) In a frequency distribution 1% Quartile = 33 and 3™ Quartile = 61
obtain : [4]
I) Semi-interquartile range,
I) Coefficient of quartile deviation.
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04) Attempt any one of the following : [1 x20=20]

a)

b)
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i)
if)

Explain the term ‘regression’. Define regression coefficients byx and

bxy. Also state any two properties of regression coefficients.  [6]
For the following frequency distribution, compute mean deviation
about median : [10]
Class-interval |140 - 150(150 - 160|160 - 170{170 - 180(180 - 190
Frequency 5 7 10 19 9
State the merits and demerits of arithmetic mean. (4]
Explain seasonal and cyclic components of time series with one
illustration each. [6]
For a bivariate data X =54, Y =29, byx = — 1.6, bxy = — 0.3
obtain : (4]

I) regression line of X on Y and Y on X,

IT) estimate y for x = 60,

III) estimate x for y = 20.

Compute coefficient of correlation between X and Y for the following
data : [10]

X (Height (incm))| 73| 61| 64| 67| 71| 66|59 | 69 | 73 | 63

Y (Weight (inkg)) | 66| 55| 56| 62| 61| 55|51 | 64 | 66 | 51




